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ST ToTeres urstan

(CTET) uiiarr-2011

yrerfieR WX (CLASS : I-V)

ST Aigd &1 Wo1-U3

ART-1 : STeA-Ferehre wat fra vmen
(Child Development and Pedagogy)

fader: Fafefga goat & ST 3 & fog we@
3fera faerea g
1. wiefhes WX W U orere § o § 9 fRe v
TEequUl frgrear w==T enee?
(a) 4 3R ge
(b) Temeror-ugfeat o fawei & 99 § qer
(c) 3T A o1 § UgH § SRIT
(d) T T SRl
Ans: (a) TIMS T W TH e § w@9 Agoqel
fergroar &9 R gear g wfw) fEE 5 fawerss el
o oRftafa § Rt o om/em # gewd ¥ guersi
HT THI FL T |
2. Uk TIIIeh U eehditieh WY & hRUT
ferenfefait o oft e § &l oft o= i gl
T ¥ Fo freneff ww-wer dew € o et
A § AT A TS A 8| B FUSTT ASeHT
IA-3TTT TS &1 Teh SATHTEH ohl g THS &l
a1ram 3w frafa & fyeea & 9 & @ & °n
ARt Tad dgaT & Wehdl §7
(a) AFHER F TR T AT FET AT F
d Ik = FHI SN 98 &
(b) ARyt 5t Y1 W g =0k FE AT
3 TRTerh & WY gue W=l el =T
(c) ARyt H 3T faamer v =g Hi e
T =Y
(d) APy F1 guEEE 4 R R
FET AR
Ans: (b) AT HE RIS 397 ArhdilBd DT & HROT
R B F O we § FE of A @) s w8
e 6 39 o9 ©F 99 d30 § 1 W= F@ € 39
e o7 HW & 91 FS qIET S3hL Tgd &1 IR
7q Rufy & o6l & ded W frdl frvEs &1 W
gt & a1 3% A b A& @ver O gad e Rwres 9

(ordvar faf¥r : 26 S, 2011)

3. % AT WA ool dlfcheh ®T H oIl o

Tl & forwa # feiaw TR aaT R, §

(a) SiTo=Re-HishaTce eTawen

(b) TE-HfshaTHs 3TaTen

(c) HA-Tfsharee Sraeen

(d) TA-UTSH SFaEn
Ans: (¢) Ti- Hfsharees st | a1 fdl awgel @
TR o fova # e g Sl @ 39 SR &
TER-7 @ 11 a9 &1 @1 39 Y€l ¥ sl dlfehep  feiae
SR TEgell H I A & S 2§ FEEe s
% OFER =4 # T9 e § W@ Ui aweasi &
foeprel @11 €1 (a) WRET (b) HET &Y () AR (d)
FARIT (5) TREARE FH-e Y e |
4. ‘U9 T AATOEOT Heid §

(a) TRfbs St & fhar-ais @

(b) HF &1 o o |

(c) T F fpareiiarar W egem §

(d) Y (99=T) TEH H TH® 4§
Ans: (¢) ‘T & A0 & FF T FF rarsfier w
FEIH § 2 o IER fFl FE F FE ¥ wd
IGH Th FRET 79 H a7 o1 AT

5. foom w0 @ wafer w1 W et @t diew
Traft TS st el i T Jad 9gdt
e
(a) M 3R TUHIR Gerah Aft 1 FANT BT
(b) TS 3R Taeh TS-TEIH! AT FTAT
(c) HRI-HIT TGfT HT TFT HLAT
(d) & o 3FgEy faf R w1 wEm

HTT

AT HE A a7 e R e/ s =)

Ans: (d) I T W i & ded g
qEEE B GaRE B B Y Sgal A 8 5 SR
fopet forendf &1 o wHer & @ IES foav ww
Ifes 3T AT & IR 3 fafes freor-ugfeat @
TN FAT AT AR wAfe T F B H QU ®9 9
TS TH |
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6. = o & wi=-ur Rrenfiai o gerTEHeRar v

TITUT HTT &2

(a) T frenef &t siqia sfqesf &1 0T FA F
TR ITAH HAT

(b) Trermerdl Siiem & YRY ¥ Sucte % ofedl W oot &

(c) TR H 3T 37 & fou e &7 ifim

(d) =71 e & =eeiiess qedi & fou faenfef=i =
o

Ans: (a) 0% endf & ofasia sfesii 1 awor =
Td T A & AT UG HU- § & fornfar #
GTTHAT T GI0T LAl 2 |

7. Tuoe & orgaR, frfafaa o 9 @i ot stawen

H Sroel 3Td HehouTel & foeer o wfehen fefe=
AT T HIAT §7?

(a) SNTRe-Hisharcas 3fa (12 a9 Td FW)

(b) HAE R T (I -02 )

(c) YE-Hfsharee 3Taee (02-07 a¥)

(d) To-HfshameT® &€ (07-11 )

Ans: (a) 3TERS-TRFaHS @ (12 99 @ IW)
ftqaRes disham & stawen Gy g & sty
IR § T8 11 % A€ T &1 A ®Y § g IaT
difdhes fore S oraeen 21 otUlq g9 SRl 1 aTelh
3T I3 & faid @E & fourl & 9§ R
H F gud & S 1 qerh I sy §
ot 39! fersoeat, Suafaeii we o= forgeit & aR &
T Hebell 2| acteh o foaN gRued & 91 €|

8.

HraaT a9 & HeRdT ¢ Al

(a) e # oiferp-g-31fers  fowror-wmsl w1 wEm
fepam e

(b) s fafm JoR F = iR wWEismr &
AT L

(c) Fem | srafee wlensii W e s faar S

(d) aafas g ¥ IR H oFHE H AT ST
o frendl wH-q@ @ sifpar R fer
3G AT F G T

Ans: (d) 9T 995 & Tar ¢ ARk s arafas
g o IR F Fa H A e G fomed -
TR § sra:frar & 3R R 39 9hen &t g a9
it frendl arefaes g % SeEl # FRER 3w
g q ga € sofew o e awdfes ghEr %
SN F ke H AR R FHmET @t fRwrndf #
g # gl g

9. = & ¥ & ¥ e @ Hi@ & uishar ot
Tergrear =& wr=T =nfew?
(a) HIGT U = Ji6AT 8
(b) e FRIRTE BT ©
(c) e-3rfermass off draa it ik 2
(d)ﬁrﬁzwawwﬂ%aﬁmw
il
Ans: (d) TRIF GIM & THAF G 7 Sl et
I B 8 Gee # aiwer 3 frar 8w =
Fiifs drar wh T ufsean 2 5 o fepeht famemeff
drad & v & A sy Redt @ e dwE &
THAE W TR ¢ afs AU §F & we o R
LA S TR § AT HL Tl B |
10. Urerell shelm o ‘gf¥eea’ feemeff
(a) & HreT-foer 3k fEt g @ 2 HEf & W
H W #t S AR
(b) F WY FeT § I ®Y § R AT A
=T R o7 . & ArAm § Gl Sy
S S =AMRY
(c) & 91 Fey H a9 agr fohan ST =Ry
(d) & f=et TR % P FE F ge e Rk
Ans: (b) UEd w1 % ‘gEaRE fandf & @y #5iE
fores 7R T Fh  dfcsh 3qH WY ke § =7 L
% wead § 39 e @ GEEdl SUds HHT AT
a1 3% 1T ff Th YT TR HEAT TR |
11. T ¥ | S9-971 g=d &l AHEISR- A7 -Th
ATATTHATIH o Y Heleg Tl &7
(a) oo G 1 ST
(b) IR # smufdy weef @ fafd ®7 ¥ e
et
(c) wferea (Efe) &t Tavehdl
(d) ISR ST STYeT TRl Sl AT
Ans: (b) TR T o1y v & faf| &9 § =
el ©H whRe smEvEsaM & 9 5w
4-I"||°1§1I|r'\'|°h HEIIhdT |
12. 9% SE-UT WH § W&l ood & GRS
faemma @t Te® Sg alih ¥ uRnfva feram S

T 7
(a) foreme™ wd em qafaer  (b) HATIR
(c) R (d) T H JaH

Ans:(a) T T FeT THEROT & 3N @ g &
YT 31dfq I | Haeft fas B ey dgm ads
¥ qRuiie fhar ST bt 81 SHEiTh oo w8 e
TateReT & TS W e @ s 39 femef @t 9=
geeft sravamaed N SHehl wHErs @ faem
foran ST Hehe 2 |
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...... =t ek AARA Freror o1 Heheer wAT
T §
(a) fomers g0 foanm T SwameEs s
(b) ferenffari gm0 w7 g
(c) e H UheH @l
(d) e § 3fereRaw Iurafa
Ans: (b) faenffal gm0 wv7 g uw SifmRa freor &
Toheh AT ST @ oifeh, AR fohelt off =4k &l
SAEN H & oL 9Ifth 9e 4 &1 B 319 AR
Hee ol H qft T B el © Afe 98 SIRHRA 2
TS BHI o T4 Il a1 foRiveRt w1 A §
o AR & fore RERE X w21
14. = ¥ @ &9 | Flgu= a9 w1 8 T 87
(a) 98 S WareqUl we 3fua ik § TUYT H P
&7 Tl @
(b) =& S 3 &9 ¥ G @ 2
(c) 8 S ¢ URA # W Bl GARING B Gehel @
(d) 98 S o Falell & 9 et WA e T
Ans: (d) § T3 5 fRdt off o9 I¥T 5 W F GHIH
F TR I @A &mar W &1 ©A ¥ 3 3 g
F F BTG A B & AT ITY A FE T |
e 39 ot & weA § e g ST A gfene
e B AT T B
15. ‘oo g & AR § STU WHE 1 G o
21 U IT----- T ST B
(a) e (b) e
(c) R (d) fommst
Ans: (d) st & SER ‘g4 gfEm & SR § T
U F G F 8
16. HicenT AEHT TX W SATQT ST A&l ohielt, TR
faramera # a8 TRt a1 Tl §1 T 9Tar § TR
(a) Tormt & wim ok & & o= foerr  mw o Y
(b) FferbT FT G R e T T &
(c) 3G femml 1 foamer & wr=en frerd 2
(d) forarer™ & 99a s=dl 1 TF a1 B PN W
IR
Ans: (c) Ffa FFR R H FA 3@ aa faaes #
R a1 HA § IEH HNUT T8 B W1 & b W H
I Al B AR A=A A A 8 e e
% sEifT o8 fommer & Samer a1 S @ ROH 91
17. Ueh T1ereR ol (U feemSan et ermarett @t
[ T YA AT O fAfataa § |

13.

-1 & 39 39T o 1Y Gag 87
(a) ISR 39 (b) Hfear-maifag=
(c) femm-wifag (d) ferer-wrSTeTE

Ans: (c) T Teifemm, ke aRftafe & oo %
FAER F AT Hh VI ST wfwAr W,
T qq gt g e g1 sE e st
ferenffall &t emmared 1 gWg 1 YA HTT € q° SH
IFTEY Y IR F HI TG BT 2
18. = = wishan ®, ST
(a) Tomet 99 g &1 7T ifrm ¥ srent & ?
(b) Tt 1 weh faen & drem & A S @
(c) fornfidl & de & wfe wfr &1 febrg el 7
(d) fomni & TRo-wih 1 4T S 8
Ans: (c) e efpron, uyeE-forarg dedt wfpar &
fernfefell <t wrfert @ ge=1 % W 3AE B9 % fau
IR et 7 ora: o fenffet & draw & ufy =f
1 e T 2
19. 1em & &% W ‘UreTwAt’ vIsgraet--- -~ HT AR
Hehe HIAT B
(a) foamera o1 duvl wriwn e famreff sfafeq
I T H &
(b) TeAHT —SHfoha
(c) T H WIH Sl ST arelt T T
(d) Rwer-wgit Td T I Al fave-aeg
Ans: (a) e &3 § aga=at’ et faamers & ggof
s forgd ferendf wfafer s/qwe s e &, 4 iR
Tohd A 21
20. Terett wermett § frerwr i @eT-Ugfa o w0
e &
(a) Rrmor-vsfy & fagd
(b) T T gfg & weEwS fgid ®
(c) Tememr & goemg fagial ®
(d) TiRe forem FEfwa & fagid ®
Ans: (b) fracht Femsi # e it 9a-wsfa qa &9
¥ foem wd gfg & el fagi w sy @
Fifs B sedl § GEd, T- WA AR TS H
Tk o 3N FHEE B g i & &Hal e
TR R g 21 gEifery el wensti & freor o gar-
TS go ®9 § fae wd gfg & A e ®
3R 81
21. ''Ush woOm oFdid i WHIE URfefq W @t g
JTIfeRamsti o MU W ¢ Reafa & wia argferan
w31 I forad wrafeerd €72
(a) GRad 1 ‘wuE-fe
(b) dre= &t sfhar &1 ‘fgfa-fram
(c) HrEa i1 ‘Teaar-foem’
(d) YR 1 FgvEa-fay
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Ans: (d) HEa &1 TEYIA-FREE F IR TH F=
foreft e aRfRefy o1 woen & Sufted g9 W SEd
forerdt Sperelt o= aRRefy 1 TRor e @ Y 9 ved
ot ST I qH 3| TF IGH WY G & wfAfwar Hm
S f 39 veelt uRftefy wd qwean & T & ot
22, ----"WRAHTIEA B T Hehdt e B

(a) TE & AT IS

(b) f=Afe & F&a

(c) formman

(d) goATes fomm
Ans: (a) 9ETCN SO YN HHEAGH & GIY
TRy SEER BT &, IH TEAN FT ¢ I I
Y S T e 8 7 R ogEd % Wy e
T B
23. Ta9i9 3navaehdar Al oeel @l RTAT SUcTaT

HE ST =Ry

(a) foom foedil # favm a=ai & fou fofm

REAGRIRAC

(b) foem foamemt &

(c) Torom fermeret & famerent 5@

(d) 3T QT Tl & 9y
Ans: (d) T¥T wgg=al ER@-2005 (NCF-2005) #
T v @ g @t T @ e wft weR & e
(T TE o) 1 S & T W R & S g
24. 3THAT I ‘IUARN T Terew’ wlshan s== &
o --- -5 wfer W= 2T =R
(a) Torenfler =t gfsmm ar eiwa frendf & swfy T
(b) T 3 we-iRrs & § foandf & den &

TR § THH M B & fow fafae qlet @

Ans: (b) fe=ifergar &1 day qea-for § & o s
Rl F TEEH T B U @ g FHror 3§ gEE-
T G H AT qEH A 2|
26. Sl i HE@A i UihAT H HIAT-fUer @ ----
yftrat frat e
(a) FE (b) Tl
(c) Ty (d) THEREH
Ans: (a) s=di & GRgd # ufEAr § A@-fuar @
STl qftreer far =IfeT qor 3% SR TRt A &
fore iafed &id @ =Ifew)
27. "‘faemm weft 7 wuTE @ arelt wiwen 1 uE
feromt fermatr wrarfeera &2
(a) T =1 fagia
(b) T 1 g
(c) 3ia:fopar =1 fgia
(d) 3fa: Ty & fasid
Ans: (a) ‘FFE i 7 Ta@ @49 & W 2 w@
ferm e &1 Rrgia 9 gt 21
28. ‘HiEw o i3 fagia’ =i fera srerar fean?
OIREEIE] (b) S foramt
(c) arETEH! (d) T’ Rrgieard
Ans: (d) §@d & 3ia:g® fagia & o4 & Tewe
fagiaanteai 3 semar fa=m
29, frafafaa o © form otavem W o= 3TUA
HHEIh WUE & WithT HeET & WId &7
(a) Srgraeen (b) g ST
(c) STeATRT (d) fpumasen
Ans: (d) fFeiTeen § a=d oH 9wagws W &
qiha ge=T &1 9 &1

ST AT 30. Soa % it T & OR (aRTE sl
ST 1 (a) TRFEA g (b) R g
(d) FTerT-3terT famnfeli & qan s (¢) T T (d) et 7w
Ans: (b) 3o &I ITANT R =k FBRAT s & Ans: (0) T B e M 91 TR AR s
for forerss 3R we-viftrs &t & feneff & W & am P

¥ e T % fow fafay adet @ gEm s
gl

25. ‘Terteraan’ foraq wweIferd &2

(a) TIOT fereprer (b) 93 fordR

(c) HTRR-Hw= fashrg (d) AHES fopre

Gadt THF BT — 0-2
ud dfshar &1 - 2-7 a9
o dfehar e — 7-12 @
aitonies dfshar &ret — 12-18 a9
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WHT-2 ; MUt
(Math)

fordwr : Frrafafias woet & SR 39 & T aed
3fera faamen g
31. Ueh UTH o foudfia wetenl ol AT ol JNThHeT
7 gt 8 frAfafaa @ @ & 91 T # T
grm?
(a)

[2]1]5]

crx|»— w l\)|

3]
1
4

6]

(d)

1
3
2

[4]57

=]

Ans: (b) I H B Bl Bt 2|
JYIER foqda et & A 7 @ wiRed
(ST T A U R 1)
3 fashed 4,
T e o W

2]t]s |

3]
1
4

6 |

ST T H I T I W

1 % faodia 6 g

4% faada 3 g

2% faada 5 &

37: & T WA % WA % STER
1+6=7,4+3=7,2+5=7 %ad faseq
HIE A 2

TMTT A T Gith o ® W ' TATA T HEAT
o i

(a) STTAM ST

(b) =TTH

(c) T W Tga & o Hhal 1 FANT
(CVRERIETICRE TGN}

Ans: (d) TUTT & F IRF F 9 H FaAA 8@ FHET
feremsheny amenRa surm B

33. Wigfter shefell W MR’ 3T T (space) ot
Ao fowfaa &= & fag e 9 9
frreferfiaa @t = %u & Tmee

(b)

32.

(a) 2-D TR i 9eiei 3R WSt &1 TS H
gU 3! fererarad a1 foree e
(b) 2-D 3Rt foRmdel & Wewgfa ¥ avi F

(c) 2-D 3R &I Bl
(d) fafe 2-D TRl 1 semadt, it i ferepoit st
T L T I U BT
(a) c,a,d,b (b) d,b,a,c
(c) ¢,b,d,a (d) a,d,b,c
Ans: (a) Tafs Feme § eR N wWH # gy
foepfad e % fore s -

YT 2-D TP HI BfeAT BN T IAH SHRI
F qemeit SR oSt @ e Hw g I fai
&1 e e g
IGH A 2-D SER H emed, ol s faewil
T FA A AU HET B R 2-D sTEN &
ferereTail &1 wewigfa ava &
34. TS § SR THaT o1 329 §
(a) TAIT G o foIT -9 &} AT T
(b) FT=ai i gue # ffed Rfwai & s
(c) ST I FgE (wiesh) 3
(d) SR e BT qAT
Ans: (b) T # femTes qleor 1 32vT 7 foh sl
T 59 o voR § sl e @ IEH PE 9% 90w
T w1 & a7l a=at o wHe § fafed Rfwal S S
35. W& TS o WA VITieqeh HHEAT AT §, f 9%
T Ugdar € CH W &e o wern? C§ Tum
R AT AET?" T E T YA S § R
(a) TSH g 3R O F& FT Febar
(b) T el § aen STeM & T 3agy Gier 8
(c) TS & o FHEH H HiSAE el &
(d) TSH Ge-gispanstl it T2 gagar
Ans: (d) 5@ s I3 & AW R rndf @@ =@
U U % IHE Sig BT @ A seHI, TOm, 9
st et deer-afsransti it 7 gwsmEr
36. Teh GUOGHT & faerunl ot @amg Sem 3 6cm
%1 THeT URUTT SaTzu)
(a) 28 cm (b) 18 cm
(¢) 20 cm (d) 24 cm
Ans: (c)Wﬁﬁ%WzScm, 6cm

1 1
= d’ +d,’ = 2 V8% + 67

L Jea:3 :%xwho :%XIOZS

2
S = 5 9, R = 4 x ST
=4 x 5=20 .
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37. &A% hi JEUNUT A URToa & & fog
1ereh- - - -/ FTHITA T Fehell
(a) P TRl I T F ehA T FA F
fore o & wE HE
(b) g, w, Ufaa, Aegs, f faftm awgsi &t
TR § fohelt ST o &Fhel & qa Bl
(c) AT # g AR ASE H YA AT IR
AT H B b G (AR x HSE) B TN
T BT &A% [ BT
(d) THE T TE H FWEA G SHAE F ATRA

T BT

Ans: (b) &7%a & FFURIT ¥ RfEd & % g
R ) 9 7 4 de & w: v o 2
T T YET B AT

G- g, Ufde, W, e 9% iR fafe awd

38. TAHLUG (2005) AT ¢ foh UG ® ‘@eN wd

ek T Ueh TRy adtent’ ffea €

o1 fqu T weAl § | 9g wed I A SuhE

Togia T Ut =&t e

(a) 3Tifeheh ST 1 g HFA & forg franfa =t
freifa g3 s

(b) UISH-TETH H A FHBE o forae @ ade

(c) T & fow 9+ U forameany T errg

(d) 39 geM @ fafy

Ans: (a) 5 oFf w99 T 7@ FE F U g A" W
T e T8 T% 1 U R ade T8 8l

39. T forerer e © [ X 1/8 Frefua &
& o whear &1 Frafafaa & @ wE-ar e

(2) H
o 7 ==

(b)

(d)

Ans:(c)wqﬂaﬁaﬁéﬁﬁﬁﬁﬁm%maﬁ

I 8 9Tl H AT EvAH ¢ Sifh fHheq (o) H R
fepem T 2 o: faehed (c) e |

40. 407928 =Y TGT ST

(a) ¥R @G 9 g9N A 9t SR
(b) IR ARG 3 &9 AEET
(c) e gom 1 9t e1gEy

(d) =g g T Gt eTgRY

Ans : (a) 407928 F IR @RI T g9 A1 Gt ASEY
T ST

41, ‘WO’ WY FATUNUN faRfdd A ¥g AUATT T

Trraferfaa st sl s © TATET ¢
(a) Toreneff ofaré w1 & for A el & WA
&
(b) foendf dard wm & fau MM THEAl H
T A &
(c) Prenefl W& sEdET g el F wefd
FW B
(d) Tewndf diedt (Afe) smeell & = & T H
BEECRS
(a) d,a,c,b (b) a,b,d,c
(¢) b,a,c,d (d) c,b,a,d
Ans: (d) 719 & FaEROT AT FE ¥ AR T
Frd & = g

Step-1 Tl W@ sraciFA W e B Fedd
A 2|
Step-ZWWW%WWWﬁW
T T B

Step-3 fymendf @wmg AT & T A= gHEAT B T
FW 2

Step-4 Trenef dich (AfTw) go=dl & o= & FaEl &
T B

42. Tfe Tk MW @ sl FrAferiad w0 o gRefa

fera wtTT

4®3=4+5+6 5®4=5+6+7+8
6D4=6+7+8+9

AT n @ 8 T W AT BITT?

(a) n+36 (b) n+28
(c) 8n+28 (d) 8n+36

Ans: (¢) & T e @ g S wefvia fear o @ @
98 39 YR % @ % ugdt S 3w & T 8 R (=)
* gd W I 3F Y Y& FC 2 I S AR D
F 915 3 formr & sue o § 5 R % @ Ww
3G & % M 3 HATTT T fora 7
An@®8=n+n+1)+(n+2)+@+3)+(n+4)+
(n+35)+{n+6)+(n+7)
n® 8=28n+28

43. ‘oo o UITARUT H S OEqU d@hdl a1 TREerdt

g, 37 W wem ¥ Tl IIE A el A S
IR <@ § R a% "WgH ¥ % &8 T
e dAehdl ¢ AR FB fhEert ¥, wgEmr
w0

Hira: T o Wg 1 TH.EHE.3m .
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TAHTZ. 9. o el 11 & UeT-U&s | 39
TE & G Ig T W eTR it WETEr s
if®
(a) = agfae aRYeal & e § T o 8
(b) == HT T T F&w F AU wHIS g 2
(c) AH-urg i Hisi & IR H sl 1 A BT
T eyt % fore sifard 21
(d) Frexta o wqRa =afd faenfdl 1 deweamed &t
R i T gHEe § HErEr S 8
Ans: (d) ST L Fafewor § qrft S @ SR et A
fhaerdt 8 3 # N.CER.T. 3 1§ & ¥ide I
FeTl -1l A WST-IF H T @ F G I8 9 §
foers & e w0 ¢ 5 e § "qRa =it
foenffail @ Hehousi FI deR Ak ¥ e H
e T 2 |
44. Tk ‘=BT’ MUTEH B o AIC..... S 2
(a) HaTell o I & N qBATR § AU
(b) 3TferheR T T AE HTAT
(c) ¥q Sedl TaTal P gA HEAT
(d) Tt SyaEROTE H THHT, AN HITAT SN 3T
e S|
Ans: (d) TF ‘87 AT 84 & fow nferd % weft
STARUNST B THAT, AN FAT AR ITH Hfe FAAT
il
45. FB AW 1 UR 2 ToReAl 600 W T AT TS
el r AR 1 TReT 450 T {1 3T AT AR At

&% WR H feram arfres 37
(a) 1503 (b) 4 et 50 I
(c) 1 Tpat 150 7 (d) 1Bt 200 79

Ans: (¢) 3™ & 9~ =2600 IH
9 H 9L = 1450 TH
I = 1150 39
| fatEm® = 1000 ™
1150 7M. = 1 fohell 150 7MW

47. "3 f W W 9w B ® €1 frmfetae o
W HIH-91 UTH 38 Teerfer 1 frmuor wvar 872

(@ T (b){ /\

E &
T —> >
©F Wk
qg —» qqg —»
Ans: (d)
I § THY & QY AT

|

W—V
48. Ta=it =t g ue wu e sivr wue €, S99

¢ W

2 ot 2 A a8 s - o o

T ¢ AR 7, 59 w9 §, o %, % | ogr
21’ Ig sarar ¢ fe

(a) Ufed 7 =t e o1 =t el @

(b) Ufed i Rl & oM & Twg 76 2

(c) e 91 i & I uRoT & S

(d) Ufed qea fmit 3t sragRem & ar

46. TAH I, I wAT- IV Ht T H UTSA-
Tk & Uel W 3H e & e E-
“pardiaTett’ ot @t WX, gfer o T
Tt &1 @rg uRed= fewamr T
(a) HATS S 3T RN H & R § A & foIg
(b) Tt § T famg-a%g @1 SFEE AT 8

ferenfefalt &1 AT 3 % forg

(c) 3% FAT-H GHIM & forq
(d) ¥ Sfrem & Sed gU 3% I9s I & o
Ans: (d) TS T & J=& g4 & T 39 w3t &

s s 2feh Sfe @ Sier @ 81

Ans: (d) Ufd = 59 yR ¥ sl & =1 ST 96 H
R % Tl o @ e g A wew @ 6 Ak qed

fors & STEuNoT T8 ST |

49. TSN =T r@URUN ¥ URfoa & o fog et

(a) 3T TH-U F FEgeli § f-ami dt vgam S
(b) fafter forst & siwr o & & wg= &
(c) T&A W1 W e HT gdqr AT

(d) %%wﬁmmﬁﬁb;&oé
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Ans: (a) 9 &1 auRoT ¥ 9RfE =H % fow e
& gateRe § Hivg aeqel # fE-ani B geee s 9
& HAT =R

50. Wi it diferal | s FrAfeRad U @t S

T
AVANEVAVAVAN

/\
[ NLLNLL NN

gfg fed fw ot ®, @1 15 & =R & fau

ferat dfiferat At sTrergaeRar arft?
(a) 62 (b) 105
(c) 65 d) 61

Ans: (a) 58 Fbr fiferdt & omepfar s e faar mar @
3G IFIER 15 9 IO § IR Aferdi A e 14 R

3 6 diferall 3 S TS A
14x4+6
56 +6=62
51. ek MO ol ow@Ts 'L’ 3% 3Hat =g, oieg
ot emeft ¥ 3@ AT T URHTT AT BN A
I TS AT T S ST Te ST =1 ol
A W@ ST
(a) 3L (b) 4L
() 5L (d) 6L
Ans: (¢) 3TFT H @. =L
% =L
2
3T H A A =2L
WZZ(ZL-F%)
=4L+L=5L
52. YSHIIHR RRIME & N § HIF-91 &= 9 87
(a) THH T: TSYIHR Holsh Tl § S B: TR
Ferh ¥ ¢ gT e ¢
(b) THh B: Herh § AR Teish Bolsh TS Bl &
(c) % fog W fied gC & AR %% & g
T TSISHR SR BT &
(d) TH% & TEUSTHR Heish Bid § SN B: AFABR
HAF e &
Ans: (c) ¥R ffre # & fog W faed g =
PSR Bes & WY ST SR TSYSIHR S 2 |
53. Teg-omat Wi UG W 4 37eh ATell feha-T
T €72
(a) 9000 (b) 99
(c) 8999 (d) 9999

Ans: (a) 55 o/l ¥ d&94 TS | 4 3% @
9000 FEATT |

54. § § T ‘3HTE %%»

v 1% T BATT?

AN

e
&4 64

S

Ans:(d)m‘sms"aﬁr%é|
HH T THE = x
.-.xwizz(ﬁﬁfﬁ@i@ﬁmﬁﬂmﬁm)

) 2x4
SoX=

JOX SRl ll=§5m ll:§x§:4
23 2 32

arfa 4 fo=
. fope (d) =@ 2
55. AT 49532 T WieTehe ESTRAT {1 2T
(a) 50000 (b) 49000
(c) 49500 (d) 41000

Ans: (a) 49532 &1 Gk HH 50000 &N FifH THh
TG g9 GRS B 49000 8 S 5 49532 F F1 T 21
56. Trfoad § | hiA-Hl WgaH H&T 87
(@ (2+2+2) (b) (4)°
(0 (2x2x2) @ [2x2)
Ans: (d) (a) 2 +2+2)*=36
(b) (4)* =16
(¢) (2x2x2)=64
() [2x 2P =[*7T
= [16]
=256
3T: Hedd T [(2 x 2)°] & |
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57. fr=faiaa arferent sl &= | Sfau:

©IH T |s92 |99 3
BN
= | 19:15 | 12:30 | 16:45
feeett
5 A | 20:22 | 13:25 | 16:10
o | 20:37 | 13:35 | 19:22
"Yq A | 00:40 | 18:10 | 21:55

TH | ®F-H 59 A% foeett @ 0N uge

Hed w7 T Sl §7?

(a) 99 2 Ud 99 3 4 GEH T A 2

(b) 59 1

(c) o9 2

(d) 59 3

Ans: (d) 99 1 feeelt § 790 g § @ 99

=5%2 25 fame

a9 2 faeeh & 70 wge § @M 9wy
=542 40 fiFe

a9 3 faeeh § 7Y0 wge § @ g
=542 10 e

I 3 9 G99 HY THT A

58. =t o1 T T wHA fYteTek i el g8 U

TG

1.1 2

2 3 5

30 frafa o freres @t SUomTceR e &% w9 °

TFIT ST AT

(a) TETH TETEH (TH.) H SR H GHA H
Fedl Sl FEdr L

(b) =t § % 6 T8 Afs-g-21ies 3 i
(c) TEH 3o BEerg T8 LA ey, Fiifh Fedl
S & aSt el a8 T S

(d) S g & aRanT St gug § s $ g
Ea

1

(=3 A A A e R

F IENES FE H A A (A7) A

STTENON & GUgH H =l &l Tgradr Sl ey |

59. faerma 56 ferenfaf=n =i e w1 T UeET B
Sget o fag § & afy e & T =g
TRy (wredw) & ST A a7 gt Dt 9w
10 S==il W Ueh Biel hall THem 1 AME=
AT Bl gl afieh | wigly (wedw) @

1
Ans: (a) —+
()2

(a) T8 IGa® &Y T fFd o uh Fid F F97 R
AR S # FerEar ¥ 3@ HA F I A B
1 fafr w ==t
(b) % faenfefai & UH-gW & FH H Sid FH |
(c) 98 9% T % & & a8 W GHHT 3R
forfeldl ¥ o8 6 9 = U I @ S |
(d) 98 T Fa & I == F AR B GHA 8
6 7 fobT el @ o IO W R ok T
TN W GG e g i @ 2
Ans: (d) 8 T Fe1 & foU ==t &1 SIS X gw
2 o5 o fobeT aiebl @ o1qq STl W g @i 9 SW W
T F T A A @ 2
60. Teh 3181k MR’ UG o (1T Ufcgiibeh =T
& YHUT Skt JISHT ST Hehell §, AR
(a) TR Rt ot angean 1t I few &
g ok 3@ we % ywor wefi fawei % oo
T} 1 TFE 3 &
(b) 3T GUg @ AR TSI G H o 2
3 3 BT ST FHIA P AT &
(c) ¥ TR H IS & FeW F I TH 3T
FAFTT TN SN W & TR Bl H
R & AT U Se SR Fm
(d) &F-gaor @ wgd gE oruifa fu Tu g,
THfeT 3 A ST B
Ans : (a) 3R TgH F T Ufeeias = & gqor i
AISHT T F A A9 ¢ TR R off % e
F TH A e d § iR 3@ A & oy wef
forll o ot Gadl i e ad 81
WWT-3 : GATEIUT AT

(Environmental Studies)

frder : frafafaa yo=t & ST o & T wed
3fera faramen g
61. I ®E & WERT W fEAfafEga § 9 -1
HIT T §?
(a) 30 ®E SfwEs, oAl A FeA g ST
&FFT % IR fha ST Wehe 2
(b) sfafe fafeemr o erarg & & T wen-s
R R % % w9 ¥ @ Fd [ A
ETIHAT 2
(c) & i 3Tehel 1 THAH aliehl &
(d) =0 H Sedl B I WieH, 0 fER @
fomfor & 3t 3% S=EIRA B 1 A FEH

Y 37T AT HhiT-91 &7

HT 2
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Ans: (d) T FE Tei B I GieH, 94 =R @5
fomfor 3t 3% S=aRd T &1 e T LT 8
62. UIFGRUT 37T ehi ohell H T UIaNT AR
IECHEREIES RO
(a) F H FIUNEA F GEAET FH I dwd @l
fydfia @ & fou
(b) ==t H W GG F AT T N el
HITEl Bl U1 B & oI
(c) I=9 Femeil & = fFam W @ SUH SAHT
F & fau
(d) F=dl g 98 T qeA W e fEn W et
FH, STaADAl FI Gl B qIT 3T fATATOT
F & fau
Ans: (b) TAEUT FLRA H HA H W TN R

S

®7 4 G- H e B &1 o U9 9w H wH
g & oo agd! 81
63. T Tek A H @l & AR AAhg! AT MR o 30U
T U AT A g TeR W G YTt 2
free dt 7= @ 38 AW @idt o W 1 gHar
T & Hehell §
(a) ITH TS F I SR AR TGYVT TN FgTaET
(b) $99 F o § ST FlE AHIFIES T 3Hh
ge et § S g e e
(c) ST BT 384 § IIfaa hrel g7 S 36eh A
Teft # <1 & T g
(d) Vo U g % ¢ ¥ 39 werstt & T gnft
Ans: (b) TSl W TMeR dqor 3 fheft off yHR &
SEed €H9 B WA & A S § SHE e
THEe e 8 S gAR W & fau e
2| R T AR YA Fem S @ I8 BN vaed
el § W ST @ RIEd ee SHiEl 89 & @y 9
ST 8 o7 g @ off fRer $EA A SR Ea 9%
S 7 3 g b o fe SuA S T e S A
Y 3T Yau Tt § off Fren 3N (FEA AHeTEe)
S T @
64. T ToEmer™ 3 TS o 61q ®hal-V & soal
o TR 9HUT St ASET SR WA & SN
Tl | MUt SRIT STAITE Et?
(a) IS F R F o FE 797 @ Tl 1 rEcde
FHET =MLY
(b) 3% 3T IIMT =MRY
(c) 3% &I ¥ 3Fclhd &l Ay, oot gt
FE ART AN a S qw e & 9y
3T S{FAIRAT bl ST TR
(d) af% 3% FE ¥ & @ 3% T H A AR

Ans: (c) {58 foamea 3 ToRgE & foT @R 5 %
el & Qe gHOr d AT SE & A 99 & eRH
F=al ¥ et Wl 9 R e 9 sEaEd w
T Geeifed Tl o R H S SR F9T R 3 et
3N o=3 & WY 39 fowg W ==l B Eifn TSI T
Ufeees e 21

65. T 31U X T HST el TINT aiteh | & AT
T 7T AT &

. | & ddd, 9 @

1 [, e, ST H A

qles %W’ T AR 2,
it afat wie® & RaaH

T = 2 SR W T A Sum W ster feRan

(a) Tt &gty fea @

(b) 31T B aTcl/3TaEfed et B aret

(c) T: YT foRAm ST WehAT &/ WU I fRa

ST Gl

(d) e F= 2/ SF F 2
Ans: (b) T 3199 =X %1 FeT & Al | gufere S7er-
I el 2 Rl 98 erwEfed g a1 &2 A TR
actt & o ewEfed T g At FT W TW el #
AT-3TTT R T i bl & S, qfeswal &
fgerh, @t ufvai, stqufed @ Webar @ afeh oW &
Tqel, TG 1 A A I & gl
66. TIUET oh WIN TR & oS TIATGRUT JETAT

TSI qUT 3T I UTd & ok sreat urs o &fer &t

= T 1 3T T wmA?

(a) =di ¥ Fg 5 9 S W R Ta 3 A

(b) T F To% s+ & foau sg-smmd gfg =

MR gVA-51e7 ARl 1 FFT HiT

(c) WU &I A & &

(d) =i i aTeL deH H W o oy of s
Ans:(b)m%ﬁﬂmw%aﬁmw
e reme # ®f TE A9 @ A U B Jueh s
% fou w1 e ¥ S| 98 F J9d 994 &
fou sg-smamdt g | omeRa gy o= mhE &
SN AT A
67. UITGRUT T o TTeTeh o ® W, 3T Sl

w fafgaer @ 9= & 9T S9 13Ty

Feell sl frAfeiad & @ siF-d fafafrn =

it et 7@ 32

(a) TafEamR & fafte SHeR HiH-91 9o @ § 78

Tl AT
(b) Tafeamr & 59 SRl &1 7 @ TS BId

SR T ¥ T SR & 5 T AR

ThiAd LAl
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(c) Fafsamr & 3= < 3@ 3ua o oA & fog
3! STET T BT B T o ST

(d) fafearm & Smadl & fou sga o @@ &
gt & ST

Ans: (d) 3R IR s==i &1 fafeamr o S &t e
T 8, A a8 a=dl H fafSamR % o @gd H WM
F FER A S S SART

68. SIS ITHAUT T HTUNUN I TH TWE T Aga

Al ¥ Ul AT Wehell

(a) SiRA AT Bt R

(b) w&m H sigha @S w1 f@mr R sigor &

SfehaT T TE HET
(c) dE W fo T P01 & =N Bt FRFFT FEAT
(d) & a, ST & fafers =Ro &1 STEds B
A AR fom oW & el & s=al @
femfea w0 forw g
Ans: (d) T TG FH TFEROT FH A a4, SiFOT
& o =Rl &1 Taeiiehd S ST I o s &
Tfafafert st s # femfed s dga alie ¥ aer
ST Hehell 2
69. WU R feem Bt wefear & diw aoa,

Hee AR SACHIET WHT UHT Hidr &, Seleh

e TaT Wie= wHE et § el o O

wHAt &1 H 3R feen = f=fafaa st &

| hAIT: hi-H At geft?

(a) @hdf 3 T (b) TAIfHET i Tl
(c) T R AT (d) AT R el
Ans: (¢) ¥ F WA, T 3R AT, Hel
e % @M ¥ IHHN QT 97 IR} e & a5
F aell dS olig de @ HH arel 9l @l e
H 8 Al SHh e TS B HW & S 3%

3T T @ g g1
70. e WERE Ut W S @1 § Al AWk
it § AT & ¥, Fifeh

(a) g 1 S T T F FH @ ST 8

(b) THHT U H T ERT U & T o

afersh e 2

(c) TR UHI & T AU Ul F T 9

ferh I &

(d) g 1 S THHA T F 3l & S @
Ans: (b) 9 TEROT U F g9 ST § Al THEA
Ut § AT @ ® i FHSE I 1 S WIEROT
U & e 9 3R B 21
71. Ueh gU oAt AThoie U STURTRd ofdl THT e
uffaa ferg < werd €, w=iifen
(a) PFoRex § o TH WEE &9 & S Imgs

T H A R

(c) T 7 AIYEH W F & I &

(d) HH TYHE T AIS H T A S S 2
Ans: (b) 75 gL T BrR H TR W T
SUETH Ah GHA % b 9 W @ FEh GG
FNOT ? % &7 AO9F W AEd ® @E S A
g fAfshar & S g
72. TTh o Wra 3N feRaant suftafa @ welam <t

g Bt &7

(a) T T HifTbrell H HARAT Wil (wrsHifeam)

(b) T B eIfcarsd Ipa IR

(c) TF § 7=X & o

(d) TS Th BRI H A & e
Ans: (a) T F SF HW TIT X Ad TR
HOTHS # qeIfan gRehdl (wsHTSaW) wrE S R A
TR g 7
73. TITOUT ETAT i HeT | AGLRUMST i WY

HH & U wfeameit 3K wgEt ®wa= &1 w&

T

(a) 3o W § a=ai &1 ol Gh(Ed BT 2

(b) U3 I eSS N Y= - § Hag hial @

(c) THE Td g T W §ER F B[ B Giem

3N HeT HT HI AT B fHHE B H Heg
T B
(d) s=di § foremm aifvs wd wiplos fafaear &
o § T 8
Ans: (¢) TIR0T STEIA H Feq H SEERONSH] HI Y
FH F foru Hfa@et iR FwifE & s e e
fove W W FUR F TP F oM S HeaAT H
F I 1 FHE FE H HEE HAT 2
74. TerTes Agca o ‘fForuent stigie’ @t ot fie?

(a) Y AT TR (b) 3TaT < foreeiié

(c) Hel qreeT (d) .. TSIt
Ans:(a)ﬁrmamﬁwqmmhmwwamﬁm%
g IR & ITEUE T H fhamHl 3 el i Fer
oy 3 F fou fFar a1 39 sm=em # faat ad

@ § 1| 39 aTRIeE § gl At ag o & aet e

75. TaeThi uR ueref € <
(a) BAMY IUMMET &L T HL 91 F HH A §
(b) @Y T % T @@ % &9 § fore s §
(c) URTE 1 foehrg teh & dhdel a1 &
(d) A= T ¥ 9 5 fow ot mEr A
AETTS €

(b) FH AUHHE R Iy A & S §

Ans: (d) e 0 9o & srge € S ot qot
¥ oteq AET § SYEvIear g @ F TOEG §9 4
el AMfh Bid & a91 A T yard & S S
T s=E & fou oiet amn § sevas €
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76. T &5 W, M & MeR A UL HI AR
3 st @ oftor ST € 5
(a) Fit B R @A F fow
(b) T &R 9% s & forw
(c) GEU T T qgH & forw
(d) w3t i Frpfees T1 3 F g
Ans: (a) T &7 § T & WX ¥ AL H HI 3R
ARl 1 HRT ST ST @ Al S B Bt ¥ S=E
TH|
77. Ueh TRET Tl U0 | ST AT oTEdm gl
T wftran & o foRam <1 SandT § 98 wgarrdl §
(a) T 994 (b) a3
(c) Toearem (d) HEA H HE
Ans: (b) FFa a1 &1 9@ ¥ AfSiT wfhar & gr v
X GHAl & A qEE: T S AT F A Iw A
ST 21
78. UHTGRUT TEFAF Thi UTST-Y&Ich H Ugieral IImHet
HA @ Tt O 9 SwiF-ar 329 T8 €7
(a) GoHTcH Fe 1 A 3iR SgHaT B b

HET

(b) =dl H 3T fia= wifth fasfaa e

(c) s=ai § ehum wifeh S ferer e

(d) w=di & AR S G HTT I I W 9H H
3R I3 &1

Ans: (d) TIERUT I H UGT U B qRferdl
Zafere & St € ifep farenelf 3 S u1g er @ &g # 39
IS &1 TRIAA & G Faclieh HT Feh | THOTT F&T Bl
fo o8 faandf wfim & s
79. UIATGRUT STLTTT ohi hell H doell o SIIehiTd
AT T HEeT AT Y187 Y TN UG §
(a) %a%%%ﬁaaﬁﬁaﬂﬁﬁsaﬁamﬂﬁmm
(b) Tt & fARTE SgwEl & S §
(c) o=dl I AT SR TNV FEICAA H GERA
3 gRefSla & &
(d) fomef &t s=af & FTHT-HER F e 3R fomef
g die & e 3 §
Ans: (d) TITeROT 37T H RN § sdi b ARBIT
FITE H Ao < R qedl & AT B HAR H
e 3R fawel & e & aeEr 3§ ar ggem 2|
80. ol ol TaTS Uk ok AT W URTed &l o
et feren
(a) T% @ frew fe@m & @19 @M geH % fa
LU B aTel Heifad g6 & YRl W a=dl &
Ty == H bl &
(b) = W el & frr weiRia X gebar 8
(c) a=ai § faft y&hR & el & W 9 & fog
T8 Tehel &
(d) e # Fw ol F AU fwr g @

Ans: (a) T=1 1 A THR F FoA 9 9T H F
forw foers fafte $omi & o @ qon v &
FATS T T Y e |
81. UM UG o fTU MMavaIeh HhivTer ¥ I &
(a) T, I R femsdt = we Rufy & wwH
AT
(b) TTE SR WM F farcreror e
(c) Toa W Refy geiy & fow =ha 3ii o &
YA HLH H ATEA
(d) ferheTs araaet & T e & fag
fereteroT GuwoT Heer
Ans: (a) AFFA & Y4 & fow e fndf |
ferem, o qen gt 1 99 & e 2
82. 9E @1 AT § foh urew foRem WeT @ eTder
T % 3T fras st / et §, AR
(a) 3THIYE o el Ao & H9 gl Tl 8 foed
ITH TAE B GABA IE I § SN THIEH H
foram 47 &1 S @
(b) U T@ AWYE 3l A B €, Teh
e 3 & B
(c) M & 3T 9o 1 3uRafe & g W
SEqE Tge Sl Bl @
(d) IS T S SN % WL W@ 7 al e
NSRS

Ans: (a) U= 35 ST & STURT STHRE & 3L
FIH, THEASH dvia Y, e () ik
Terh Hfed el ga AN @ S W et 1 W S
g 7 IR & R WIS F 9T BT T 7 e
IHT TG BT &A% 9g S ¢ SN USEH R o
GAC I
83. UHATERUT AT ot UTST-U&Ah H {19 fEhe ot
T T forr
(a) Al HI A TSN F I:fHA A H:
S A 8, WY & SECST H U B
ferebre el @
(b) aT=El Tl & U % aR F aan
(c) b o s faftm dferamed &1 9 Sues
AT &
(d) frpd R g F T @ Fud @ w G
T &
Ans: (a) THEXTT STEATH F [EH H TH o9 GHe H
T fege 1 Aed @ % St B ardfas Sl 9
T:MoRaT B FT TR I A & STTAFA B FIAA
F1 foem & 2
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84. Trafeifga weal § A &i=-91 Wrafies &1

ITeRUT STETTT UG T LI T &7

(a) S 3R wafewer ¥ TR WA at g &
T HEAT

(b) WHfas I TETH @ & aR § I
ST

(c) == & @ie i paned § oo qur PR
foRad e ST ESIe SR AT hiel
% foprg & e et 2

(d) =l W Aherd & foIu rsgraell i gRerreit
T g ST

Ans: (d) T T 3o & [oq vrearaetl 3 gRwramait
H A STAT MAMHF TR W GG ST TG H
v T 2

85. oW @i i W IR F[[eT (32) uaft der feams
AT 41 W1 FAfAT BT 7 TR et

(a) =9 § GC S a1 e @ 2

(b) 9 H Fg W dIHT T TEHE HIAT 2

(c) 34 & 9= ISl AR HdT &

(d) 99 die W yEher e @ 2

Ans: (d) T () T G ¢ gHfeT 9 9
die T o HIST Bl ST A A § S a8 9
# dig W dadr 2|
86. fAfega & ¥ & |1 Wafes faemes o
TITERUT LTS U T 329 Teiud &2
(a) forrer & a5 ol 31 A0 g & e
(b) s=dl B dEAIS Ve R gRamel 9
R AT
(c) TAERTT 3MeEd § WEIYd deqiehl WsEl
HherT
(d) 3T IH H FER HH & U s H1 ge
M foh 3% F-T 7S g ARy
Ans: (a) TS e § waiawor oreqgT &1 3E9d
el H AR A W S du 9y I &
QIS T 1 ST 2
87. FEYU (SHAT) AT AT RIOT T 3T §
(a) ¥ ¥ g9 § a9 § qRedd <@1 ST el @
Safeh ATSHShUT ST Fel ST el
(b) 97 ¥ S A FA weA Sl & SErh
ardietoT #
(c) ardiswor fFedft off q9HE W 8 Hehal § St
Fao T8
(d) ¥999 ¥ T 1 A HH & Sl & SEih
ardieRtoT #
Ans: () AR AT Sff ATOE W BT W1 8 Ui
T sherel 100°C T & &1 Hebel 21

88. Teh T&W FT@eRt Th ‘O’ & T ‘A’ T7h WUE areft
Bt ¥ I AT ¥ SHK TR ool ok Wh 9UE
‘0’ B T FHTEHT &

() 75% (b) 50%
(c) 100% (d) 25%
Ans: (b) 'O' T 'A' TIE % I & a1% 3 Teed o=
e d g Rl ow o ™ TR 50%-50% B &
T B
89. TAT AT (IeehD) €
(a) U 9UH A § = Fre ai
(b) T% Tmed fie S agHed § s 9HE T 9
el &

(c) T AW s T R W 4o & 7

(d) IH S YA % agHed H YOW HW & A
RERCGIR

Ans: (d) 2T AR T R M 4ug e & S o ot

Tt § agEved § wow T 8 R a9 # vy ad

T % BT T YhS ol B

90. YTfeh TR WX, SATehetT W I EIT =My
(a) B F=ai & AU 1aT ol @ SR &

saia s F U Tos gur Te-@d iR
-
(b) Ters SR 9ad 3R SRES d0% ¥ fFu MU
TSR &I Sl R SAUEH F WY "
(c) T TwR SiTeies qhend i @e o1 3=
I O H S AT
(d) oref-arfies 3R o & o H aifiep wlemd
Ans: (b) fTeTF 5 G 3R SIS T 9 5
T el I Fedl N AR F G S|

-4 : &=t (Aerfeuen)

fordwr : Frrafafias woet & ST 3 & faT qed
3fera faramen g
91. SUTNIHe TIT8TUT St Weherar freft ot & -

(a) “Ifoh fooml & I W

(b) 9T 9 3IEY T

(c) TUENS & FRON Hl T TgaM T

(d) TS eqor S wrEfl W
Ans: (¢) STIRIHS fI&I0T 7 Toherdr quemeti & HRol
& vEEE W & el s 2
92. wTHT-foTeTuT W UTST-TE -

(a) THAH TEEA & (b) @red B

(c) WEA & (d) FEYES §
Ans: (c) 91 f¥1eq0T & ATl ugT e T dreEA
g 2|
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93. &=t & wam ¥ yra: Rdav-wrht s=a =
HiEgT # 3Fe wHiSAZal @ WWAT A €,
it -

(a) 9 79 TR fodt = e

(b) &= draw % e 3 e At 2

(c) fo=dt =ga =faa a2

(d) T et o S T @ TR § e
T 2|

Ans: (d) I7: = 3 ST AgumT & G F S

3R BH & FRUT & R amdt s o= e #

HfSEa! BT THAT B

94. g g W -

(a)ﬁﬁﬂﬂﬂ“&ﬁ%l

(b) == e & THE G Wi ded

(c) = SR & Z|

(d) T=Ai I FHou-ih 7 Rie-vRh &1 e g

Ans: (d) FEH GIH § =i H FHeqAr vfad T e

vIfE e S 21 e gAd T g 39 oy

 HIe E F 8| T I g deT a2

95. STEl o HEA IV T YeAThT i o 1010
-t fafer sgaw & wehdt 872
(a) Hﬁﬁfﬁ—cﬁ&’ﬁm
(b) #TE
(c) TIBTENRA S¥T & SR fora
(d) TR qG H T

Ans: (a) = % TG IV H GedhT B & T

I T 1 foRaT SgeR g 21

96. 'S WV § HEEYU §

(a) Hadf wd Rafq % STER 310 a1 F7 FHT |
(b) HE T Yg IR

(c) SR AT T JATT

(d) wee At

Ans: (a) 9<¥ Td T % STUR ol a1 F@ b

“SIeHT” HieTet 1 Heul frsTyT 21

97. T WTHI-TTeTh o &Y 7 Tad o2t gl &
(a) S=El I 9 GREH & e | TR BT
(b) =T S A F TR WEA S TG F b T
(c) WIST-GHTeAT &l 379 B |
(d) g e o freor & forw fom wilifeat @

FHTT

Ans: (d) TF 91 s & €9 § w9 S gA

IS el & Rreror % forg sfem wRifar @ & 8

98. Ueh TUTAYI Hall H ahIH-HT He= WIHT-I&10T &

(a) 9= TRAW ¥ W AN H T FW GO
-5 F e o wehd § |
(b) a7 GRaT § e Afsta & Sl 2
(c) fie-9gg #Eter 9o des § w8 g 2
(d) =TT & o faam @ s & ae-fae
yiveraT @ ghm
Ans: (d) “TH FHEYN FeT § AR F e e
Fedl &1 9 e wiEar ¥ 21 98 %Y W
fgr=ii & et 21
99. Ueh Sg-HIThicIch hall T AT Teh HTHT-TIT8TH &
®Y H T o1t TR T ar?
(a) UST-TEISh o Fodsh UIS Sl eil-+ifd THA
(b) sl i SAHOT R
(c) ¥ YF -3
(d) TTedt B TH-TIT F AR T AMH L &
Ans: (d) T SgHIHTH HG1 § TH 9 s & ®9
¥ aet H 9N TN & s § e a3
IR
100. TR T UR -1 WTHT-TTET0T 1 329 781 &7
(a) TIETAT TS NATU 6 WY Y AT BT
(b) SUTHTCT &1 A | HT BT
(c) eai-Hehd g T T M
(d) fafers deaf & 9mor &7 JTEt SET B
Ans: (b) TIHH TR T TUMART & 59 T H3LT HE
g e F1 oS AE 2, S wWEd e
YA & W AU AT F1, A Gohd fag
e ST U fafie dedf § w1 s SS9
YT & 3eavd & oiald o 71
101. &S o IR | -7 R SHId §?
(a) e AMNAER FI = T HI IUH e 8
(b) T=Al I AT, TR F SFTHR [EHA e S
B
(c) e en # fHY T e B AT B
(d) e & AA-AEaTIS 2
Ans: (b) TEHE Tl i eEAre, TR & SIER & faar
S S @1 ST wei b &l e & HROT Fefed
BT 21
102. HTET & TR I & -
(a) 1, drer (b) aretT, ferga
(c) de, fern (d) FT, 98
| Ans: (b) w1 %1 SifreTE i drer, fore 8
103. YTAfter X WX Sl hi WTST 18 & ded o
frrafafad § @ SiF-H1 R 3THT &7
(a) I=9 9Yg AW-URAY H Tew N W w9 I
o  RA HT AT
(b) =<9 I F FEA AR TYg TR F Y

fagiat o wfoge 82

feremer™ a9 €
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(c) ==di & A-Teheunrel R fymmem § vafe
a1 uRar # faremrd & o s § gers
g 8
(d) GER & 98 W F I arelt Rwfor g frds
Y Y Tl 36 39 & Gehel @
Ans: (c) TS TR W ==t 9 ey & ged o
Fedl F q Gehoqnedt R e ® wafe wm
aitarer & ferdtenarg & aror dred # gerEe g 8|
104. TST-SHIITEAT o o W IH-AT hI= Stord g7
(a) foamem & Faa ‘ger, o @R Woa
ERACIRCIIEY
(b) =d Had G, AreHT, eI, faET Hee H
T & dma €
(c) WIST % =R hIvrel TR 3id: T g
(d) WOT-HITTA F fab & g 1 rden Wi
foremt o1 = St €
Ans: (¢) 3 T IR fohedt § 9o % AR v
AT, SiTe, T 3 oA e S gt €
105. TS | QU T o= T o7 329 BT 87

(a) Tl § Wrea-qdsh eTshtsh Sl 2

(b) o WIe & W TBW &

(c) TI-I%  fort 3 B v @

(d) T o7 HeheumneTt i THE H TeEd B ©
Ans: (d) T8 # Y U o & 32v & Uie & gwg #
ferr g Yebeuel 1 T § TR B ¢

frder : (WP 106-111): Fiqar & Ufehal ggeRt
forefeTRan weet o W ST ferehed SR

3@ F el AT § @ W g,

T e & S e e

3 TS T S A L,

3TV IS I 3 T |

el H Al 7% 339 @ qH,

AT 9 e qgd ® I

379 g ST § e 7 4,

3 B W FHH o7 @ §

106. &Lt i o W o1 27 & -

(a) qagﬁw%‘m

(b) TRee &

(c) @R BT

(d) FEfms g
|Ans:(c)%ﬁ¢ﬁ?ﬁ@ﬁwaﬁéfm@ml
107. hfeT TATE SRl ShEl &1 ST <17

(a) U H (b) 3T TS |

(c) w&f g o7 g @ (d) T T W
Ans: (d) BT O9g § 9= Hfaar & AEH ¥ SiEaar
tar T 21 9 R B f uAT 9 T W A S &

108. Shfer foRT AT o SAThl ol HallTerd oY @1 &7
(a) ST st IRA 2
(b) St =rgd uBw 2
(c) S Sa &I FIR arcfahars ¥ sEay §
(d) S STHET H S B BA AR &
Ans: (¢) T[T Ffaar § Hfa T8 =l & gwifad &
W1 2 S Siie & HOR arsfasharet § sEek §1
109. HfeT T ekl RAT SITHET =TEdT &7
(a) TR @ fd g T
(b) R wsal # Tfereficin o W IR I W F
Y W S T Goh
(c) g & T 2
(d) & Hfa = R
Ans: (b) &[T HaT & Wegw 9 HF @it § S ga
HET Fed & e A § eefiad o1 w6 ek 3
T % U9 W 3 9 b |
110. ' ST STEATTA TR T T G0 Uf*H H i |
AcTRR &7
(a) AT STABR (b) SUHT BN
(c) ®YH IAABN (d) ST iR
Ans: (d) “3T0d %A= IR S T g

=9 UfF § ST TR 2

111. ST 1 SUIH Iioeh &N kel §
(a) & (b) HieEA
(c) SAThTR (d) S

|Ans:(d)$ﬁmm3qﬁaa¥ﬁ§$‘wﬁ’ﬁm§| |

ToeoT: (W9 112-120) : eI Rl UgeRt faferiad
Tyt § wad 3fua faened g

T 96T 4 R T sl o, d@fe w9 o
feam, “TwE aiE #”

el SfafeT STl TgaR 3§ W STUH SRR Hid 9|
S ! S W R N gu efeh 7 fown 8, ‘e
Ft 7 1 fewme fomn S w9 | o1 g o faw S
S-S agr &, SEh el fordl sy eiie & SwEm @
=iRw| el § ‘Gie’ v & T Hig @ e 21

S S er &, 9 formr S TEr S ¥ aer gan
fopeT o= T B, A I & ST S ant g8 @ o foret
SE | A U T P 3EE R 3R el fawm &
oferer T |

TSt = g% 7 ¥ e s faeer s we @
21 % 39T F G e 21 76 s 9 9= §9 9 0
B g1 H gy &9 F forgar IRT AR HE &
g foeg & & T 8 oW g T WieR S &
itk e 2t

(iefish o Treren dww)
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112. T oY 3TTT FohH TTeTell AT STEETH §3TT?
(a) I8 TSl & o T A
(b) A 7 =l § P & M F ewe forar o
(c) 3= Tl § wd-udt ardt fergh off
(d) 3= Tl # ‘FiRg’ wex 1 AT fFAr o)
Ans: (d) T FI T T P ST T g S 3T
o Sl H FiNg” wisE i WA R an
113, Mefish 7 — ‘oiRE’ veg WX Ut amuta W
TaTg?
(a) ‘TNE W& S SE MG V= B FAT HE 2
(b) TS =@ & 5 W& T S = A
(c) ‘=iE v § & 3 faam & e @ @
(d) T =Rd 9 5 o i SHi-H-i for@r s
Ans: (c) TEST T “GiNE” sk W YT AR 3HfeTT
S FEifE TiE v H He R faEn @ s
d 2
114, Tefisht T St foea @ geea & S o=
e &7
(a) 4 F T oA 2
(b) i = gAR el § witer §
(c) B F I T S §
(d) T H Tear iR e =ifee
Ans: (d) e 3 SEd fae geEd S S s
21 S el B % Sl wEd § e I Bt @
DI Al FI WY FAT @ AU IYEEY BT 21 3G
g e SR T Y vl i i et |
115. TTEdt foTEmT gufeTy HEwyul §, T -
(a) 39 =fh @F & fovenn sar g 3R @
Tedtih o BT 7
(b) 399 =fth R A fFw Tu s-wd &1 -
T S T 7
(c) TS 39 ARwqul A &
(d) THH =AE H U 31T TR I 2
Ans: (a) — S o =AfFq & foe gder wgegef g
2, SE0 =AfF W B g S @ SR HhEl @
fereciooT e 81 Y & WY gEes SuE off S 2
T2 Sl S e 21
116. et wfafes St Tget @ &ia a7
(a) TERR & 9 % a8 faw o
(b) T B ST AT BT STEHE HAT
(c) TEY W g&RR X & N 97 IEd o f6 =fe
Ao e R fomm # fope fawm § o1 @ R
(d) SRR HId & IH A= 1 AT @ S b
Ans: (c) TSt SfafeT st Tga 39 W EERR Hd
g1 9 98 3Ed 9 5 oA 3 s @ R § Ree
fee & T g & @ 7

117. ‘wfafea’ v1eg & 19 o1 90w 872

(a) 55 999 (b) TFfivE A

(c) foip o (d) TYET T
Ans: (b) YA # st wra @Ay 81 Ry wHg @
Al W ([ ) e q4 YU T, W eriEE
U Fed &1 S e # 7@ ug ufg 3R I ue fA
21 Tl W st A 7
118. ‘U@T g3 fohetr et e &' @ o7 ¥

(a) ToRaT W& S=aROT & WY U@l @

(b) T2 g I feberl fergetwur b &

(c) eI gaT fohe Twer # o7 8

(d) wgT g3 fehaT ST fopam @
Ans: (d) T g3 a1 O T @, 1 39 & — el
TaT feheTT ST &1 e @ 37efe fohe Iy & e g
119, '’ 9162 T AEHT TY FATST

(a) T (b) HRS

(c) (d) &M
Ans: (¢) T4 I3 T TGHT &Y B ST |
120. ‘foem’ ® 3ok Yo TITeRY 9168 ST

(a) =T (b) feemien

(c) fomitftss (d) s
Ans: (d) AR ¥ ‘5% Yo MR SA9 AT VI
e 81 3 YHR 3% YT Al I VR 8 -
TS + 3% = YEH, FHfd + 3H = Hipfde|
TAHR + TF = TIHRS |

9RT-5 : ENGLISH (Srahfeush)

Directions (121-126) : Read the passage given
below and answer the questions that follow by
selecting the most appropriate option.

This was one of the Old Man's pet schemes; and one
about which he would brook no interference. Each child
would review the events of his school week in his own
words, in his own way; he was free to comment, to
criticize, to agree or disagree, with any person, subject or
method, as long as it was in-some way associated with
the school. No one and nothing was sacred, from the
headmaster down. and the child, moreover, was safe
from any form of reprisal.

"Look at it this way," Mr. Florian had said. "It is of
advantage to both pupil and teacher. If a child wants to
write about something which matters to him, he will take
some pains to set it down as carefully and with as much
detail as possible, that must in some way improve his
written English in terms of spelling, construction and
style. Week by week we are able, through his reviews, to
follow and observe his progress in such things. As for the
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teachers, we soon get a pretty good idea what the || Ans

: (d) 'Brook' as a noun means a stream. Hence

children think of us and whether or not we are getting || option (d) is correct.

close to them. It may sometimes be rather deflating to
discover that a well-prepared lesson did not really excite
Johnny Smith's interest, but, after all, the lesson was
intended to benefit Johnny Smith, not his teacher.
121. The scheme, according to the Old Man, was

useful because :

(a) it was excellent feedback for the teacher,

principal and school

(b) he was slightly eccentric

(c) it was meant to humiliate the teacher

(d) it was meant to give power to the teacher

1.

Ans : (a) The Old Man's scheme was useful because it
was excellent feedback for the teacher, principal and
school. Given in lines 10-12 in para (b). Hence option (a)
is correct.
122. 'Pet schemes' in line I refers to :
(a) astudent he is fond of
(b) a formula he had discovered
(c) apetanimal
(d) a method he has advocated
Ans : (d) 'Pet schemes' refers to a method the old man
advocated. Hence option (d) is correct.
123. The 'Old Man' refers to :
(a) a parent of the school 3.
(b) a student of the school
(c) ateacher of the school
(d) the headmaster called Mr. Florian

Ans : (d) The 'Old Man' refers to the headmaster called
Mr. Florian as is given in para B. Hence option (d) is
correct.
124. The advantages of the scheme were many. Pick
out the disadvantage from the list given below.
(a) Sometimes deflating to the teacher's ego
(b) Diagnostic and remedial for the student and
teacher
(c) Effective feedback
(d) Enhanced writing skills

Ans : (a) The main disadvantage of the feedback
scheme was that sometimes it might be deflating to the || 4.
teacher's ego to learn from students that they did not like
his taught lesson. Hence option (a) is correct.
125. 'Sacred' in the context of the Headmaster means :
(a) that even 'he' was not above the 'scheme' he
advocated for students
(b) he believed in the sacred nature of all life

(c) that he was a holy man 127.

(d) that he was the powerful head of the school

Ans : (a) 'Sacred' in Headmaster's context implies that
even he was not above the 'scheme'. Hence option (a)
is correct.
126. 'Brook’' as a verb means 'to tolerate' in para 1,
As a noun, it means :
(a) Tolerance (b) Allow
(c) Suffer (d) Stream

Directions (127-135) : Read the passage given
below and answer the questions that follow by
selecting the most appropriate option.

Karuna Verma is bewildered. "I don't know how
she did it," she says about her mother, Renu
Chopra. Karuna's childhood memories are of her
father leaving late for office so that, by then, her
mother would be-back from work. Of her parents
working in sync to make sure the kids were well
taken care of. Of her mother handling kitchen and
classroom with ease.
When her own daughter was born, Karuna too
wanted to do the balancing act. But it did not turn
out to be as easy as it seemed. For starters, her
parent's era was different from hers. As she was
living with her husband in Andheri, Mumbai, away
from their families, resuming work would have
meant leaving her daughter with a maid while she
was away. Her daughter's formative years would be
spent with an outsider, a thought that did not appeal
to Karuna. She quit her teaching job in a school.
For a woman who was encouraged to be
independent, throughout her life, the decision to
quit and stay at home was a difficult one. Ironically
it was her mother who urged her to quit the job and
become a full-time mother. For Karuna, being a
housewife is one of the tougher jobs she has had. "I
have no time for myself," says Karuna. "I make
sure all my personal work is done when Avni is
asleep. Earlier I had a set routine. My husband and
I used to wake up at 6 a.m. I would re-heat the food
the maid had cooked the day before and pack it for
Iunch. Then we used to head off to work, and at
night, we would go out. I had a lot of time to
myself and for my husband then," says Karuna.
The routine is quite different now. Karuna has
taken to cooking. She wakes up quite early and
makes sure all her work is done before the baby is
up. The rest of the day flies by, pandering to two-
year-old Avni's needs. Source: The Week, March
13,2011 (Adapted)
Karuna Verma is bewildered at :
(a) the responsibility of bringing up a daughter in a
big city
(b) her mother's ability to combine her career with
household work
(c) the amount of work that she has to do after
becoming a mother
(d) the late hours of work that her father followed
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Ans : (b) Karuna is bewildered at her mother's ability
to combine her career with her household work.
Working in sync to take proper care of children as is

given in para 1. Hence option (b) is correct.
128. ' ...
(a)

parents working in sync' means :

father earning and mother taking care of
children

(b) parents having staged office hours and sharing
household work

(c) parents pooling their resources together to take
care of expenses

husband and wife sinking their differences to

preserve domestic harmony

(d)

Ans : (b) Parents working in sync' means — parents
having adjusted their office hours sharing
household work to take care of their children. Hence
option (b) is correct.

and

129. 'Karuna too wanted to do the balancing act.' In

this sentence, the term 'balancing act' implies :

(a) managing the time efficiently so that parents
can spend quality time with their children

(b) making adjustments in order to balance work
and leisure properly

(c) sharing of responsibilities by both husband and
wife

(d) a mother's ability to look after her child
without quitting her job

Ans : (d) 'Balancing act' here implies a mother's
ability to look after her child without quitting her job.
Hence option (d) is correct.

130. 'As she was living with her husband in Andheri,
Mumbai, away from their families ..........
this sentence 'their families' refers to :

(a) Families of friends in Andheri, Mumbai
(b) Karuna's parents and in-laws

(c) Karuna's mother and father's families
(d) Karuna's husband's family

. In

Ans : (b) 'Their families' here implies Karuna's

parents and in-laws. Hence option (b) is correct.

131. Karuna's parents and her husband's parents
probably lived :
(a) in Mumbai but not in Andheri
(b)
(c)
(d)

Ans : (d) Karuna's parents and in-laws perhaps lived
in some other city. Hence option (d) is correct.

with Karuna and her husband
in Andheri, Mumbai
in some other city

132. Karuna decided to quit her job because :

(a) she wanted to have more time, to herself and
for her husband
she wanted to pay more attention to her
cooking
she was not interested in her teaching job
she did not want her daughter to spend her
early years with a maid

(b)

(c)
(d)

Ans : (d) Karuna decided to quit her job because she
did not want her daughter to spend her early years
with a maid, as is seen in lines 7-9 in para 8. Hence
option (d) is correct.

133. It was ironical that Karuna's mother should
advise her to quit her job and stay at home
because :

(a) Karuna's parents had always advised her that
home was much more important than career
Karuna's mother herself had not quit her job to
take care of children as she encouraged
independence of women
Karuna herself was keen on quitting her job
Karuna's parents had insisted that household
chores should shared between husband and
wife

(b)

(©
(d)

Ans : (b) Karuna's mother's advice to her to stay at
home was ironical because the herself hadn't quit her
job and had managed office and home well. Hence
option (b) is correct.

134. After Karuna quit her job :

(a) she sent her maid away as she left that the maid
was a bad influence on Avni

(b) she had no time for herself as Avni needed all
her attention and care

(c) she had a lot of time to herself and for her
husband

(d) she occupied herself with cooking to spend her
time usefully

Ans : (b) After quitting her job Karuna had no time
for herself as she devoted all her time in her daughter
Avni's care. (Para D). Hence option (b) is correct.

135. "I have no time for myself." says Karuna. This
sentence can be written in reported speech as :
(a) Karuna said that she had no time for herself
(b) Karuna says that she had no time for herself
(c) Karuna says that she have no time for herself
(d) Karuna said that she had no time for myself

Ans : (a) In reported (3™ person) speech the statement
could be rewritten as — 'Karuna said that she had no
time for herself.' Hence option (a) is correct.
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Directions (136-150) Answer the following

questions by selecting the most appropriate option.
136. Remedial teaching as part of Formative

Assesment means :

(a) diagnosing and addressing gaps in learning

(b) teaching beyond the textbooks

(c) extra coaching by parents

(d) teaching for gifted students

Ans : (a) Remedial Teaching as part of formative
assessment means diagnosing and addressing gaps in
learning. Hence option (a) is correct.

137. Which of the following is a value associated with
an inclusive classroom ?
(a) Competition
(c) Sympathy

(b) Envy
(d) Collaboration

(c) While all formative tasks are meant for
improving teaching-learning, some are used for
assessment too.

(d) Formative assessment helps
students into good, average and poor

us to grade

Ans : (c¢) While all formative tasks are meant for
improving used for
assessment too, is the correct statement. Hence option (c¢)

IS correct.

teaching-learning, some are

141. When young learners seem to lose interest in a
lesson, the teacher should :
(a) tell a story or conduct an interesting activity
(b)
(c)
(d)

ask them to sit quietly for some time
allow them to go out and play
ask them to sleep for a while

Ans
classroom is collaboration. Hence option (d) is correct.

(d) Value associated with an inclusive

138. The aim of mechanical drills is to :
(a) strengthen the role learning capacity of the
learners
(b) encourage creative use of language among the
learners
(c)
(d)

Ans : (b) Aim of mechanical drills is to encourage

improve the fluency of the learners
improve the accuracy of the learners

creative use of language among the learners. Hence

option (b) is correct.

139. Learners are involved in individual activities
pair work, group work and whole-class work
because these :

(a) provide the learners opportunities to relax in a
classroom

have the sole aim of introducing variety in a

language clasroom

enable the already over-worked teacher to

(b)

(c)
preserve her energy thereby becoming more
effective

(d) afford the learners opportunities to use the

language in a focused manner for real-life

interaction

Ans : (d) Various individual pair & group activities
afford the learners opportunities to use the language in
a focused manner for real-life interactions in future.

Hence option (d) is correct.

140. Which of the following statements is true ?
(a) All formative tasks are meant for assessment
(b) Formative assessment, to be effective, must be
conducted only after teaching a lesson

Ans : (a) When young learners seem to lose interest in
a lesson the teacher should tell a story or conduct an
interesting activity to regain their interest. Hence

option (a) is correct.

142. The Right of Children to Free and Compulsory

Education Act, 2009 had included 'all round

development of the child' as one of the aims of
education because :

(a) it-nurtures the physical, mental and emotional

aspects of the child
(b) it ensures that every child is a part of a
workforce
(c) every child grows rapidly between six to
fourteen years

(d) proper health care is essential

Ans : (a) The all round development of the child is
included in the Right to Education Act, 2009 as an
aim because it nurtures the physical, mental and

emotional aspects of the child. Hence option (a) is

correct.

143. Teachers do not give the meaning of new words

to learners directly because :

(a) learners do not like to be given the meaning of

words

(b) it prevents learners from discovering the
meaning through puzzling out using clues
learners already know the meaning of the
words

vocabulary will not be enriched

(©)

(d)

Ans : (b) The meaning of new words is not given to
students directly to encourage them to discover the
meaning through puzzles using clues. Hence option (b) is
correct.
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144. Which of the following is an instance of non-
formal learning ?
(a) Children learning to cook from their parents
(b) Children learning a new game from friends
(c) Children learning through correspondence
lessons
(d) Children learning to draw from their art teacher

Ans : (c¢) Children learning through correspondence is
an instance of non-formal teaching. Hence option (c)
is correct.

145. Group project work helps in developing :
(a) ahigh level of ambition to achieve
(b) collaboration, critical thinking and problem
solving
(c) competition among
academics
(d) good memory in the young learners

Ans (b) Group projects helps in developing
collaboration, critical thinking and problem solving.
Hence option (b) is correct.

learners to excel in

146. What type of questions promote thinking skills
in children ?
(a) Factual questions
(b) Questions based purely on the reading text
(c) Personal response questions
(d) Closed-ended questions

Ans (c¢) Personal response questions promote
thinking skills in children. Hence option (c) is correct.

147. 'Students need to brainstorm ideas, organise
them, draft, edit and revise their work,' is a
'process' which reflects :

(a) Listening skills (b) Speaking skills
(c) Reading skills (d) Writing skills

Ans (d) The process of brainstorming ideas,
organising them drafting, editing and revising reflect
writing skills. Hence option (d) is correct.
148. Teachers help learners
knowledge in English by :
(a) giving the learners a lot of assignments and
projects that will lead to much practice
(b) correcting every mistake a learner makes and
giving the relevant rule of grammar as
immediate feedback
(c) giving extensive language drills in which
learners practice language items mechanically
(d) enabling them to see the relationship between
their prior knowledge and the new knowledge

'construct' their

Ans : (d) Teachers help learners construct their
knowledge in English by enabling them to see the
relationship between their prior knowledge and the
new knowledge. Hence option (d) is correct.

149. Reading for comprehension can be best achieved
through :
(a) Teaching learners to run a finger or pencil
under the line being read
Asking the children to read the text aloud
Helping learners speak words softly while
reading
Learners reading silently
comprehension questions

(b)
(©
and

(d)

asking

Ans : (d) Reading for comprehension can be best
achieved through learners reading silently and asking
comprehension questions. Hence option (d) is correct.

150. A textbook describes a domestic scene which
shows the father cooking in the kitchen, the
mother coming home from work and their son
sewing. What is the concept conveyed?

(a) Division of labour amoung sexes
(b) Work is worship

(c¢) Removing gender bias

(d) Dignity of labour

Ans : (¢) The concept conveyed in the domestic
scene is removing gender bias. Hence option (c) is
correct.

3UAT
URT-5 : Gk (Sehfeddh)

fder :  omifead NP ufden  @EewR
YEAUTAET (WIS (121-130)  fasew Ry
wgfaay 3w fan foradl

AT T FqEER AW Wl T F TR
SAfgaTRa g W8 ol el o frdfomfoss wga: |
TR TSN &g ) Wfow: | T wgur e
TERaef Fapd Iufas: a7y TéY: vanER- 99,
JeAEERY AR | aq A @ Se sk P wfe
T IFRAT? FEFA F0-95 79 R = @ e
whg 6 7 I g =5 oY et wuf ad@sd
foufgal AHIgam q S qAEATy AW STReRa
e | 7l for foyee w@ifie Sushfay w=ey qafl
T A U] { SR AEd FE A § b oy ¥ 6
Fa? FoRFT 5 — 7] |
T AT FEd ¥ fh T

It~ ST et wEgaTr gHge |
e 99 7 g gfiese: ||

T T FEUAE - 3R gEEd! Ui afgue
TfirErte HAM | o ded) a9 @it SRt aww=
FH | T

Ued: YgASs SXUT gare |
IH qEATE qREAHHAAT | |
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TYFAl o HORYSE  PAaM| dd: W 9
Ry FE fEMES S e A are e |
3TlsgE srifH-

et 7 afq @t
g el < T qifed o
121.37%1 AT FAHE TEATHOT JFw?

(a) TIR-THA: (b) Th-FFpEN:

(c) TRH-FFFT: (d) FEL-TIF:

Ans : (c) 39 FIT F TR0 TE TE Fo 5 AL g
Tg MU FYEH! AWk ToHAT Gt & wrEor H
T g

122.fermef vam =R gAYy = ook wufa?

(a) STHRTIEI] (b) SFTFAI

(c) STRTHIET] (d) 3T
Ans : (b) F TR H T@H IR G A oA AN A
THfere Tt e iR ST et (W) I A 22 S

12335 & ATH—

(a) fersoperat (b) @mft

(c) HYTH: (d) ArrEor:
Ans : (c) T (s FT 9 FILULH o7 FYUSH AT
TS AR 7 @ At vt fardt e
124.TENT HAITAT Teh: hITUd:

(a) TR (b) TN

(c) rehrur (d) IRETHT

Ans : (c) TEH (TTH) & FIHR &k HROT G BT 3T
39 GO W G W 911 3Hb W H AR AT o1 o
T IR (ST ETS) F BRUT T e gam|

Ans : (b) T FUT ¥ I8 mn faerdt @ 5 T & iR
7 % fav § WeR At (79t - oReEh s
AT Fad U4 HR &7 7% i ©A =R
Fofq TR % HE H gWRT T BT AR
127.' v’ g UAAUGH—
(a) TE:
(¢)

(b) TFPT:
(d) TR
Ans : (b) Y91 i T FFF: T ¢ | SE(h TS TR B
T dielt 3 =R A] B g Bl
128.' 31T | 3T fasgyreg:—

(a) SR (b) HrT:

(c) wH: (d) g
Ans : (a) ‘L TR H foA Fgar foeg AR B
2wy w1 faam we g g EE W s wes
STUA AT & | AT Bl (o6 Yk Fooie Bl 7 |

129. sreftfir’ gt
(a) FEHGENERATTH, (b) YUHYEIRAEAT
(c) STTEHHATTH, (d) STTETEEATTL

Ans:(c)‘ﬂﬁ’ﬁqwmww%' EQ!
TE THN H &Y 5§ YHR -

LA EEIIn) 3 EEIE)
7. EEILS ERE ER)
3. EEIL) ERE ERE
130.3ufae:3fe
(a) HHMOT o (b) elft P
(c) adHH FHg: (d) faeadss: Fa:

Ans : (b) SUE T8 AR P 21 u1g & R s b
Fed ¢ 3N T W S ves g & § ¥ P
(9% 311 # P ) Ped &1 Pad UG F ¥oT F

125.75Teh: ShEAT Yelg:?

(a) TR (b) R

(c) e, (d) TR,
Ans : (d) & (W) T FH R (TG o5 @) &
FROT S TN R W A A I MY A
AT I G IHH (IR g & W IR 97 33 T4

126.3787 SHATAT: Hifer:
(a) W@ 7 g (b) TURER: =i 7 Faiq
(c) @R T Faq (d) fimerf 7 A

TE: @9 9% §-Fd, P I S|
fdor : erenfoafad veieh Ufsem eyt
(TTEGAT 131-135) TrreuTeRiTRY  Efoa 3T
Torea faae

TEIATl A I e 9 |
131.%hrerehT: Tk at-<a?
(a) T T
(c) Zod feaf

(b) W TeaH IcreAf<
(d) el g
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Ans : (b) F% 7 WEL TR H GoA YE fHanl e
SATER0T GO & T ARl W b g 9 g Qi
132.forered: foh wmrarf=<a?

(a) AYTITH (b) HITHaEH
(c) Frqefersem (d) Tepafafary
Ans : (¢) S& W FFd 7 WX MH e fRA e

ferrt & P fas =1 = foR
13393199 TgTarel: sher Tua qaf?

(a) & LS AT

(b) =T TOT: et

(c) T Ao eaf: W

(d) F&T ARG Tt ety
Ans : (a) UM (TEHE VY & E gl WA &
foTT S gag () S Sa e @ (31U 99 gag
a5 8) a9 SEH AR B H oAl gAE gedl @ e
Tyl & S 5 wrguiar g g 2

134.3 Ua i g Terg?

(a) ISFTATIA OEERIEEEEK]

(c) AT (d) SFIETA

ns : (c) 39 TT ¥ HOH D= BT FANT g g
Hogad HIfCEE &1 3T Hid & TaH ol A-amh
T B FAM g ¢ AT T TH FBR eI
ST T @ 9g TE I A8 17 TR e gugh
2| TUF YIS UG H 0T, 0T, T, GO @07 K
A T SR AT &1 Y, 0w o7 H fawm I 2

135.376 TEIET PeAEUTe HISAZN:?
(a) ®IHH (b) Srf~a=T:
(c) sum (d) 3=:

Ans : (c) 9BIf0-TT % SR e § IUAT TSR 21 &
aggal § gue o % Sfqued 1 SuAr sed &1 ST &
A 3-THAT, AT AT SEd | IUW % fAU WR A
HEYTH E—(i) ST, (ii) SUAM, (iii) FAMAT G=F IS
3R T FE |
frdor : wafuge fased forn frafafaayer s
136. AETUTCRATHTIIEN  SUNTR{GITeal  TeTEEa

T goE:

(a) BIIEATATY 27 7

(b) 31 ®¢ 7

(c) &AEmS AR =

(d) =T AR =
Ans : (c) OIS 991 fYreror & swanf &g ves eafy
I T SATRLOT BT GRT T &1 BT & ST 5
U&hd g SR 81 A e @1 g B 9 2 A
a1 wfe veg TS 9T e % fog w2

137. SeTdTeTeY forg=rut A
(a) I fAwfargEr:
(b) TRETRFT-wefRTeE,
(c) SUTEAAIAfT- AT T,
(d) Feedat freferg smeRoTTET:

Ans : (d) 9T BT § e & AW 39 YRR o-

FH & I =T &1 3T R S @1

138. BT Hal: TS WIHTSINT: 3TeHTUhT a0 IHerra:
I
(a) TEATGERH
(b) ST QT SIS gEata
(c) TATTNEH THEETT TR T
(d) Bmm: fererepr wdiferd West e Fafa

Ans:(b)WWWﬁNW:W%W@Wﬁ
i Yehe AT 21 A: TH W TEANH N A9 e

& SETTH B |

139, Rrerrawereg - geryaTire Hfaeem-= g
EIRIE-Ei) hd:
(a) Hfoere =efifaads afssoe
(b) Gfeme veufifaans aftsHo
(c) Tfaarrer fafoaea gispoe
(d) dfFerer yoorafada gRsHo

Ans : (b) forT § afem genyg R d@faem & 863
Hfgem denem 2007 § @ied fFar mr ar1 el 869
dfge delem § Rrn & qenfier & ol wmia
[ERIKIEH

140.3saUTAHERER ua'v:ra—ﬂw uﬂfmﬁﬁw

Ans : (c) ST WU T W TSTHY & qhe &
o9 309 U 2-30, Ffed v F Wi aqr @ A

e T SRR F ITAN B

141. BTN T WAeehy TRUTHRTRY AR
'qa;
(a) RS T DEOT TreETEH,
(b) FSTLTEATY:

Ans:(a)?ﬂﬁﬁw?ﬂwwmﬁﬁaﬁmﬁ
FAAT 21 TR I ot & W fAeW R A w2
TeI A GdH I ST 3T Y JH-TRAT T Eh
g 21
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142 TOFATHSRTSRETTET WEITTET:
(a) STUIART: SFAvIaETeS FERoT
(b) SATSEHTTAH,
(c) ARSI
(d) DERETIR

Ans : (¢) U8 & HAMUREYU & AW 3H THX 2
IEEYIESY Ul e # S ff YAl 399
FEE B U IW UGS ¥ T F T @ S
IReEm #X 3 ATl T & U H HaaREdur e
T B

Ans : (C) LI HSh HTheld hl J419 &A1 5“:1,‘{9 6f\‘i?¢| IR
(JF) & FeATT F AT BT 21 A FH F A
I HHeT TEATHSAT g1 a1 ST 2 |

147. ezt Brfarent fafaen suram wfwamser tageq
ELPENin)

143 SATRTUT- ST AHIIT :
(a) TfGash FAHIUTITATETINT:
(b) AN HHOTH
(c) SATHIITHATOTH TehiFATaITT:
(d) SR BT HUSTRHIOH

Ans : (¢) FHT & FH & TOH 99 3T 2-
FATHVTHATOTH, THIFATANT: 7 3Fefq BT F JH &
fw s = @ wHied v sifwed 7l
TG & foTT fFaTes SATRT 3G & ebal § i
B B T AT HN YRENF 9 HIAT AR | TR Bl
T H W T T 2

144, \THTETEA 3TMeheT o1 fI9WT: (Portfolio) ATH—
(a) GrafherEfeHader
(b) Serget fepammom wiftgsht when
(c) BT FHifcreh: HRIGTR:, J: T&T: Wfe TG
(d) SfoTs BHETRNIRRET
Ans : () 99T 3TEAT S AHeH & (U0 & 9 9
TER - DAL FAh: FHEAGIS:, I d9@m: Y
A 7afq SE F1 THAER FEA B GIE TG ITH
IR Sl ST AW
145, 3fegamireRETE=TanT:
(a) TIRITHERTOT YT
(b) Sie= g
ST TATH
(c) BETT fFaTHeSEvaHaE faverong
(d) “Tep-quaTshe T
Ans : (b) 3fg G 1 STAM Hifers e #
FUC & o § T 21
146.9T85%T HarTaR|dul AT
(a) AT
(b) TEF: TG KE SMEacin
(c) STHRGHIATCESTH
(d) A< A=< G 9 UEI Yo

CIICIS ICECINCICILY

(a) g yRwifagH

(b) TRUTHERIRGAT BT STHATITH,

(c) ¥t e ferfierdn

(d) TeferersTshRIIT Savaehar: TR
Ans : (d) FT F iR 319 YHR % Ul 9 kA
1 FANT B & S 3 JHR E-FeT ¥ 3% THR & DA
wd €, fferesr 37 waeh stEvasael # qu S 2

148.femmg ‘U= (pie-chart) WY & Wew fawEm

UGS YEi g e S fAfden adr

FEIEINST Warfe

(a) fafaea=: forgareaq

(b) SETHTERT FoiATCHRATAT: TISUT

(c) VIeITEEET: WU WEfeshee i

(d) FemTga: SeawyuT fawamT gReday
Ans : (d) forrga ¥ v § werg ‘GO % W WeN
Fh qIT 37 ITAN T Y9 AT UM Hleh S DHEI Bl
frfer fopar ST & A9 S YHE 33qvd g @
I % &9 H A9 & aRady & 8|
149.9€T STEAMMYRT T TV, =FAai o g

drert siter, argeht ufierm ue wafe

(a) Tafgudien (b) Tquarader

(c) frarferssr adiem (d) STARICTHILRT
Ans : (d) ST 3TeATMHT R @ A7 AMHT W FR (FAT)
3R A F T B T FA A SIS T
el ST & 31 3qH BE B B S STER A S )
150.BT: HATAT: F= UReE wAT YAeEg aqr

fafdvara, T wereoT:

(a) PRHIR T

(b) feomfierafasay

(c)qﬂmm

(d) BEAFSHIHBATIET
Ans : (d) F9T & 3 H 5 BET 9 IRTAT b HAT Hl
forgs & fou 5@ fRm fear o @ @ e W@
3T BAT H GIIHS (TTIHE) W B ST B 8
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= 9Tk st (CTET) ufiarr-2012
grerfires WX (CLASS : I-V)

ST Aigd &1 Wo1-U3

(e fafer : 29 e, 2012)

HIT-1 : FTA-forenre T e v
(Child Development and Pedagogy)

%:myﬁ%wﬁ%mm
3fera faamen g
1. o oeel ‘Thel’ BT §, A SHeRT arcad & feh—

(a) =3 9 3T F T TF T A8 T B 2

(b) F= H MEAE STH o AR |

(c) =T thel g2 2|

(d) == weE & fow v w1 2
Ans: (¢) At 3@ fodr ff 7R ¥ AHfas I ¥ difed
e & giq gy oF afe glen § el & S @ dl
T T 77 ¢ o frerr e % g g
2. Treror & ftrm W W I aren ufteds g

HehdT §—

(a) STEA-Hfsa RTen-gfy 7o

(b) & F AT b

(c) T T¥Tequr Ft Teheiieh TAATRT

(d) e gRemE W s g
Ans:(a)WWWWWW@
SR T ol & aTel gRad & gehel 7 |
3. @Sl T SENU Hereuwm & fireTor Wt waw

gurelt ugfer &

(a) foanfefai s/ g & iw S iR 3T 3PT

RO HT SFATHT FHLAT

(b) vAMYE W & SHEAT R ol e

(c) ¥ & gfg & fo famn

(d) foregd =amen &ET
Ans: (a) 5 off w1 & 3t @S w9 ¥ BE W
HATR ST ST HIAT A 1 98 T TG
EOT S B g W & A S S 3E% SigR &
T T SFATHT HLAT|
4. Turavit frem—

(a) &M § fafeemr 1 Scoa A 8

(b) afaet gl Hor Aihansit i agar 8

(c) Tt i ¥ (WariawT) ¥ Tt @

(d) BT R Reyq ot T fmerept it gftwfem &

e 8

Ans:(a)mwwﬁ‘\’ﬁw%w%ﬁﬁﬁq
Freifeh SavashaE # ufd % oYt g 8 3Rk
s fee v B T e e & e fae
TRET 3T TH GHNT BE TS AT BF & qY
feramerar & sepay THa faamr 21 veet gEEeh fwn &
TReea o foom ol & fow & T f wfea
Y Fa A & Rww S 3@ fHem @ faea
gfieshior # 319 el H =FaeR H ol AT

5. TorE yaR & UvAl o aEgE we ot guft
TET AT §?

(a) TS T
(c) T AT A

(b) Hxh ST ATl HRA
(d) [BELICER N
Ans : (¢) T & IR ¥ HId & AR s 98 qer
S A G @ A1 ST 39 YR % el &
e e @ S0l & @ S 2
6. fFmafafaa & @ w=-wt wfavfrar forem =t
fervrear §—
(a) FIA TEANGT TST-THR T STERT ST
(b) Tdemes § o= i W@ A W I
(c) TR-SR & S arelt glemd
(d) THI-GRof S e i e § oo

Ans: (d) e Rren @ ared @ fava a9 % 99
groft % SR UgH # e e o & ded &
e B TEeraT AT

7. Uk t9181eh U9A-UF S o oIS, g WATel hidl §
fer o=y wharor & fafde seoat ot ufien o
® ¥ 9% 9&T ®U ¥ YIE-UT Ak
# feifea €1
(a) WW-&Q@WW
(b) ¥ &F FER
(c) forea-aan
(d) g

..............

Ans: (a) fFE s & w9 @ T § SER W@
TR BT & qegul fve-aeq i wihe
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8. TeaaemTaer frarmomer @ ug ¢ fauma ¢ feor—
(a) foenfdai i @da &7 9 debon T& T =R
(b) T=4 el § BT A G §, T8 TS &
(c) fmenffal & srqwa iR geoer oy Hequl i &
(d) T o =1 T FA-F h FIIE B A

FLT T
Ans: (c) =TT e s @ @@ A 2 e
FiE Ff FE 1 g dred F T =d fRahaT R,
i &, 6 H T I Al H TH YER I
e U9 qHS R Al diad H et o & T |
9. faEmeg-smaia Ao A ®U A fwE

T W smenia g &7

(a) @ gl @ oTveN fe oo+ fwnfdE @t

&‘I*—Idld‘ll. ﬁ ogdl SiHd %

(b) T o Fa R i &1 e Ig fiew =Ry

(c) Termer, e wlen FMebrdl < sven ST Ge §

(d) stisher 9gd frsrartt (fraerdt) B =fe
Ans: (a) e smenRa s faenfdi #t saeniar
F TEEH B IE GUR B F TH WA 31
i & fremed % R o BE & AHed H 8
Fifs F 9 DE B A YBR d THIH F TAH
HW B
10. forameff dafvwrer fusar webfa w@ 21 om:

Toerer whi—

(a) HiEH & fafay srwal S 3Te FHET AT

(b) FSR SRMEA AT HET AT

(c) TORTST @ T ST I ARy

(d) AR & THHEH A W T 31 LT
Ans:(a)ﬁwwmﬂﬁﬁﬁm%ﬁ
fSrers @1 fa off e & oot & IR § 9 @ sH
Toff YHR & STTEl FI ITAH FHIAT AT
11. fr=faiaa & @ w=-a faemma o fagr &2

(a) W FF Forepra-ax T T8 e &

(b) T gem i g ¢

(c) T R e aTeht e e &

(d) forpre & woft sfpard vt T §
Ans: (a) @ & fpan sferm wfy ¥ FREX =
T § W T M F9 F T B A e 81 e
TR F Fo anit & G @ Y § iR g oA
e & e R

12. we forera & et § frenfra fram sirar € < §—
(a) SR, TS, HATHS S QrHIfTs
(b) FATMHSH, HIHIHD, SeAferss 3 QrIfeeh-
EEIERIIEED
(c) RIS, G, Herlicash AT qASih
(d) TR, sTeanferss, WM 3T QI
Ans: (a) A9 &1 faw yoF &9 § wig-wrg S @
g Wy & Wy 3 o § wier o wifta g W
2R A T TR F T H &Y F FH FW @ B
e e § geg wewel g @ YHRs e gud
e Rl o FE # wE & e Tifs w9 9 daR
ZAT TIRT| 3HH 1% 9% 39 &F % AN H THed o
3R 3T YT T F A 3Y W R R, 3TH a1
3 W 9 fFERl F 99 gueeR 39 wEd B R
3§ e e &) ST a8 |
13. T fiferem urew-ag iR we-dfesa & &9
Torsit st W et & fiX 3 ferenfofan @ wrert
Tl F1 ferameff 30 VR Y 3O gd W A
Jrgd & 3R Wwur @t HeheuwT sl Hiwd &1 9%
(a) SRR & YMEAE TgaeA
(b) THeH & g
(c) 3ferm & dfspa Srgaeq
(d) T4 & fomfor

Ans: (d) I & fmior it o= al% T 3@ & ulass
7 wfud &9 & fau sHe o oA 396 IR # ==l
Fh 3 I TE W HEAN N Gehal 1 Y & A
a5 FI 39 79 I T TF YR ST T § A1 F
I I FAT T TG0 B Th| 39 FHR H A(HAT H
T % i % &9 § off S S 2

14. S Teot St IET IW IHAT A @ M T @l 8,

A Tl A AT 1 T e, & HI AT T
(a) SIS gf¥=a (b) Hermers g
(c) ISt gieam (d) ferm gf¥=mar

Ans: (b) 59 T=d &I IGH A & MG T AT B S
A SuH digaw YRS gi¥ed 3w e @ e
ST sea U AT & |
15. Torem & dad ®, HHTSieRtuT | areud §—

(a) 37T THITSS TS T

(b) HHIS § TSI T GHME HEAT

(c) TS FMamERoT g 3R FHEsE

(d) IS WSSl F1 ad STUTeH BT
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Ans: (c) TR, RIS 1 9BHAT H T S & i
fomn & wreAm ¥ W g o, STewl, SEerl Sk
F Urad ¢ 3R I IR ITF IEY T H N
T Z

16. TS W i Teh The-TEH Wle@ir & fog
faenffest =1 R WA GHE ww  feEme
TIEfeRal sl THTET IaT §1 Ig ITaT Tl—

(a) s ggfrar (b) SIS SUMTH
(c) STfersfier e (d) W qatme

Ans: (d) 59 5 e ar wem # AT & e W

foreft weh it Bt afEar § S @ @ 59 wfehar @ A

Qatae & AW @ S S 2

17. aTEicdeRt soal o dgw # frafafaa o @
ToRT ek I WEeaqul YRTeRT 0 &t I &7

(b) Hfeih

(d) QISR

Ans: (d) TETEH & TR e & FHEES [GH

F A 3HF AEIH-GiEpas TRaw F aided §

FET Afeul fordl aTerh 1SS 59 grHeTes-

it e § g W 8, I F IFIEY I 9,

ferem, gfeehioT we wfiyes ermarel s faerd 2 21

18. Wen forfarant st fotenfefant = fafirer sl
Jifersit s WY i % fern Sfeemgut st @

.............

(a) hrecart & fies fawa & fagr
(b) TMER & Fgdf4 s
(c) ST & FrIfoh-Tipfas g
(d) T % g9 fasm % fagra
Ans: (b) TER & Fggf¢ & frgia & oaR “IfE
TEY TH A FB TgHREB Tl 217
g R frferer stoq ferenfdei = fafm siferm
viferdt # GqE F & AU eyt SEt w1 sgEm
A & ITH T AT ¢ 98 MER F gl g §
e 21
19. U Rifyen smmA-2ma # weft off yoAl & S
TE T T oo faenfet w1 SWR 29 &% foru,
HE ol i WEdnTeTsR SIRN ST
T diefed et ¥ 9E Sunm
Tagra uT menfia

............

(a) ST Tl & 3fad e

(b) TR AR T HTAT 3R YforehT-ufaeq a1

(c)iﬂ'@ﬁaﬁﬂﬂw

(d) dfshar srfteridr
Ans: (d) T ol stom-3ma & weft off g9 1 SW
& = @ 3k AfX 9z e et & s 39 % g,
gUE 9N R TeAres S UM & fa
AieqTied HL € Al I8 SUNTH Hishg wriieriar & g
W 3ERA 2
20. fafafga @ @ wFE-ur R 9 gwfe

AT =t FHTFIT I STl Thleh &7

(a) S i Sfa e

(b) Temeror-StferTy HaTeFl & SqcteE

(c) foror-areq a1 Sferm-stgat 1 i

(d) faa-aeg | weitorar
Ans: (d) Reor gfkar § S« R 3o fawa § ydior
2 & o a8 R S A THE S Gehdl § 1Y &
Y 39 3 favedl & aR § off g I 8 =R
21. Hiesdt & MR, Foregrew soai W Afaew qeai

T R T GeRdT §

(a) enfifes frem =t 7o T

(b) R % WE a7 A

(c) At qEI W el ==l # 3 e w

(d) “FY TR R T ART 36 T BN PR I
Ans: (c) e % IR sedi & e fawE & fow
w2 ff A T @ et § afEa gerh s
Tifew w1 & e T 9 NOTEES FRIE BN GAR

3% Afde fasE & FERE fear s g 21

22. B Torenf¥fal sl wHarT-wher § AHIER! & A
s fopem w3 & T Wieanfea s =nfeg
Rrad—

(a) J TH-TW T Il & 3N 4G T

(b) TISTHA H TG el GU fHAT M Feh

(c) ¥ UgH % <R TSR B g T

(d) forerss perr-sper t dlgek ek ¥ fadfad o2 W

Ans: (¢) B¢ enffa it wen-wa § THIIE & Y
0 fFm F % U SRa & Gk e
T4 % SN THEIS HYd 9 T |
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23. W Ueh Tt seen ugelt 9w fenmear e €

ar Trerer =l 9= AT wnfeu?
(a) o= F fREa & ouR 3§ fauw faem §
IS T JEE AT AT
(b) 39 3 faenff=i § s1em waAr Ik
(c) WEHRI AT fasfid #1 & foIT == 1 Aml-
foeT o g ==t G =R
(d) YauT-adEm o= e
Ans: (c) 59 TS @ s qgell oW f@rera sy @
Tesl Ao fsfid 9 F g o= & - &
1 F=t S AR
24. oA & AT O o ST o ITIEW,
IE-TE  (FA-U)  oaedr feRweh WY
[raferd €7
(a) 3TIRLUT, T TR AHRT o
(b) Tfheh €T ¥ THET-THTHM I
(c) forhedt & feem 3fiv fargaiwor e & Fraar
(d) T qEf § THR
Ans: (a) 3T TH (YIE-5) 319 1 R 2 ad
WWW?lSﬂdﬁqwﬁqmw °¢|°|6|{,3:|T5|T3T|'%
F IO FH A 21 g, AR, T, THI @
faem &1 off 99 89 @ 2112 § 18 AR H AEE
T 98 A4 ! B g B AW FE o @
3% % Y S fHeq, IReeww onfE feme
T R
25. UHE-fthea TRUTH §—
(a) TTEH-UNOT ST RIS
(b) STARTERT SR arawT # - frar @
(c) I FTTERIT FH
(d) Fad SAARTHT
Ans: (b) AIFa-SARGE STAIHAT 3R FERT & 37
fepam a1 aRorm 2
26. ToterurT-tRrm yfeshan ¥ afthia & | €= <A1
TEraqu ¥, Fifh—
(a) fomendfl gaem wugl & & see G €
(b) TRreres wimeror sreihal & TEr & saran = |
(c) 399 s Tl & ewnfm W & fou
f¥rerel 1 g 3TEER firerd &1
(d) =at & fa R f @t 2 o 9 fe adet

Ans: (d) feror-s1Rnm wfshan & =i €9 9 e 3
wequl 8, sifs =l @ e & e gt @ o 3
firsy T8l ¥ g wehd 8|

27. frafafaa & ¥ ®A-W GOET-wEee @t
AATh Ugler hT TgAT T &7

(a) STEFRTUAT I JLEI0T HLAT

(b) TS & Ff STTEehT

(c) iR STRT S ThT BT

(d) STEheqAT &l fHfoT T

Ans: (b) f5Hl off TR & THRAT GHIEGH FH GGAT LT

TEe % IR § AT BT @ 39 dawiee o § amen
% 9fd SITEehdl o 919 9 ST ST 2 |

28. Tr=fafaa o @ A-91 e @ 87 €
(a) (T
(b) e
(c) 3meAfesh
(d) =TI
Ans: (b) &S & TG4 2 5 TP o F

fth # IO THNES A6 A GEL 9 S S
1 G T
29. W& Sl hd ohid g e oIl &, A 9% 39
ST T Hehel & Teh—
(a) Evad: HE T &9 9 IR-G1 & @I 8
(b) =1 A T &
(c) o=d & WrgH & Frraar 7@ 8
(d) == H ST F H TEW &
Ans:(a)memaﬁwaﬂﬂT%ﬁg@
U 9% IS 39 B H oY @A @ o 8 e
ST Fa AT 2 | FordeRt emerg 2 % e @ity w9
I-IR & T 2
30. e Rrenfela ot Jfea.... s AR Heha et §)
(a) 3 HY g §
(b) i3 Tvm| il AR
(c) Hraa F srqafafa
(d) forenfiai & gmfses-snfis

T g1 g gahd B

Ans: (a) T ol &t gfeat ‘9 F9 dwad & A
S Fobel HTA B |
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WHT-2 ; MUt
(Math)

el uier o ferenfd=i @i wuaer smeRfaal &

ATH Bl HeheuaT | fermer grT ulRfera s

T Hehal §7?

(a) 3TIA H TEE I SR F GAT A gL AR
3MAd & &F%A ok GF H TAM Fh AT &
B Y T LT

(b) 3T S it & SABe H T A

(c) THE & & T H TeEA T IHMA &
e 1 U T

(d) fafes awqeii S gdeh, wd, dfga eifk &
Terar ¥ frdt off sl # emwer bt AT

Ans: (d) ®&T 99 & fFmfia & guaa s &

&A% P Hehed T § faft a%g @1 SwET fRar R S

O 2k Sae & HErE: 319 S9-TY 2@d 8 S9-

gach, oo, dfe omf 3t wer § fohet off stpfa &

SR M|

32. TMOTA W IUTAT SR WISt IV ohl feh®eh gRT

TSTAT AT FehelT 87

(a) em ¥ a1erw 2q framefter nfafafere &1 smareH
HH

31.

(b) Hhoqamell R ufpaei & WE HH F 9R
fers--31fh 31Ty BT
(c) HIA ThoIIHH T I
(d) FIA TATRA (Algorithm) T FuiT Feh
Ans:(a)WﬁWWWW@Wﬁ
T 39 foRamtta Tfafaferi 1 staee & aern s
T 21
33. HaT I o feremfi=t et onaltg et ferfiTeT gentgat
= UG o e freren frfefaa amft war o
™ ST -
(a) fofr Tpamsall o el art ®er (FeT) Ao
et B, A9 aTel T2 S AR FN WA §
A S 2
(b) A Gl 39 g ©H wH G & e
G WE e @
(c) fofrs gopral 1 Trey-ard
(d) T arel Ter R 9= @l 29
Ans: (a) F&T 11 & el am=a: @@ & soE 9
qufa: aRfem 48 81 € o1 3% oErs % e % an
# qgr & foru 3 e # SuA 63 9 9T g
F THEAN Al TR, A At B, A9 @l gedt
afE SIS FEgel @ WA W 3K TR F IHRA b
TR F ST ST Hebal B |

34. e 111 o ferenfeei @ @ET-ugfa uge &
ELAE
(a) I 3fhi drel @ & AN R FEaweH &
EINCR I Cl R T |
(b) ST T B TG F HIoel H O G BT
(c) 6 3l TH TUMT HIAT
(d) TEmsit F Fhel, @l I THEA F 9E
w0 F @A AN g A # adsdar @
HHEAT
Ans:(d) T 111 & foaffa &1 wen gsfa gem &
3Ryg & 5 domeil I G%el, <eRdl N sHEdl &
T F &9 # @ R WA A wedear #
T B
35. 'WeW IUIRh -, ! TART g &
FNT H HIAT I SIS ok Q. Twan
T Hehe & Ky
(a) ferr-fafe (e @)
(b) 9gT UR TATA g HLAT
(c) T S TIYUT TFheiih (ICT) FHT TANT FEAT
(d) fersdl 1 ST HET
Ans : (a) 99 ITIH FE-TA1 TS TN AT &
TN F FYC B FHEE B F AU gfvewr frale
e ST Heha & |
36. Teh eIk MU T T A & HehoqT T
forerm &t "wa wem ® frefafiaa wdelt @t
IR AT & H 8 TETSA 31 4 TRtEal ¥ wH gl
T TR T Se9T
(a) SMER 10 3 WHA 99 F THed T 3 38
(b) ANTIHE 3TicheT HEAT
(c) formnfefai i @@ o S & Hebourm ¥ R
FHAT
(d) Fem ¥ o AT FTAT 3R THEAT Hl AT
Ans:(a)ﬁ8mﬁ4mﬁwéw
Tfafafr 1 32va @ 5 MeN 10 (8 <@rEE)) SN WA
T F GHeT F 38 FET 2
37. INT 3R Faehe WX MeTRd, visdl o feu 7w
FATAL ol BA H{A ohi Temfeofant o qerar ot
AR A o TTT STiheT o viden &
(a) T H A R L T forg
(b) TaTd I UgAH, Hel Gfehan fasqrfad s
(c) T, e ®9 ¥ wd, qofd: @
(d) TaTA &1 sted, e S o= Al |@fear @
TEIH, SRS H MUAE ®9 § 90, g4

.........

T THIEH 3R TS
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Ans: (d) T 3R Fashe W uRa, = § &3 ™
GaTell &l 8 hi &I fanfoiai &) <erar 1 e S
% fou fie il 9 Harel & Wehd & SIH-Hard &l

Ans: (¢) 9 & AN GHUT & WS W AN S
qug s g2t dea Al il &1 vE & w2
7afq 98 fovg-ag & gd 3 Tifafr &1 5@ W @ 2

Ay, fomfed & S arel dishar S 9gEE, 99 &6
T €9 § feuvn, gare &1 HEE onfe st §
A TSl G I Fehel B |
38. gsft 1 qvmera & U Wt HeheuAT ST TITeTT
wA & T firg wiferferfar =61 T ot 31 sqemT
Tk F9AT frer fean e &

}0.3

0.06

0.2 0.2 x0.3=0.06

39 TGl & g gsft f=
(a) G % RN SUNTH 1 AN G F
(b) FEET-GHEM HIYT % FHE W 3 W 8
(c) THAURAE §H W SR S ] W R ¥R
HHeqATS JH W FH
(d) HHoUATHH T SN GHESN-GHEM R SR ad
2 @ § a9 gshAuTeiel I W &
Ans: (d) Pre wfdfafy =1 e wmU gHr O
Teheq e FH 3N T GHEH W S 99 & W@ 8
Ao ShauTefiel 9 W FH e < W 2

39. T Rt INT HheUdAT & U6 WX HFISET o=
U, foteren ugt WreA arefl Tifefafr st wEeT
@R

#7/ R

7R

N L[]
SUHTR TIATAT ovvvecccnne Ky
(a) fowg-a%q ggma wfdfefe
(b) 9T F TS

(c) fawa-asg & w@ &t wfafafy
(d) forg-aeq wwr=i iafafy

40. wHT IV o Taen¥=t wr a7 g & fau f&
T I AT | HW 2rar €, 3hea Suny 8-
(a) 3% aR fefial 1 difgs &9 F WY HE
(b) fFoeE ot gael & fafm fel & w7
el T it 7@ Wy & 5 fe i efw
39 71
(c) T F 9T F ST H TEHT BT SN
TR & o axqsti @ @e, st 9 # e
2, s ¥ %9 2
(d) YIMUE W a9 F aet 950 IR FaTd BT
3R femr foh &2 AR 9 fowres 9 &9 81
Ans: (c) fodf I 78 g % fw & 9 gwen
foqes & %7 ¢ & 3f@ sTTH ® 5 awgEn &
forerors & AT ¥ T B N weRfd & 6
T P T S T § A 2 e ¥ B9 2
41. <t T 3MMRiT WA ATHRR o ier ot A fietant
st & oMy W SFheT 180 EEHEX §
3TepRfer eht aRATd (Geft.H) Frm—

L
(a) 48
(c) 36

(b) 72
(d) 45

180 _

Ans: (b) T &7 &, = ; 36 cm®

aﬁaﬁ@ﬂﬂ%:6cm

A H ARAT =2x6+3x6+3x6+4%x6

=72 cm

42. Tt @1 anT ug w@ww, ot fig grr ug @

T TR frrmfaiaa wer it Jfe siga o &
2 4
3 10

st iz =1 fafafaa ST=mcAer rE e

=R

(a) 3TH9H F=i & AT H oy B WE FH F
fau femmeres iy 21 a1 9 § O TR &
ATl 1 31T FHAAT

(b) feeiai &t Hea & & geg & 3 R &
AN STt HaTell o1 ST ST

(c) B & AT AYE (A.9.) H Hhou & T
HEAT

(d) THM YHR & TaTcl I SIS T FIAT

2
+_
5
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2 _ 4

Ans:(a)3510WW5ﬁﬁ%W

SUENIHS HE I8 8 {6 rHe Rl % a0 & HehodH
H WY FH & ¢ Fomress sy <1 dor o1 § gHe
TR o GaTell T ST HEAT|

43. Tk S, ST feh 3Mepfa W fo@men W= 8, o+
ATeh (cubical blocks) ¥ o1 § =t v s
T 1 At 1 AT Y HEAT ¥

(a) 60 (b) 70
(c) 48 (d) 52
Ans: (a) & TE SB[ TH FAMGR & €9 § 1 1 G
5 & Gag | Sg T SE T 2 ed ww g
T H 1 YL k5 T FEE & ®F H q97 4 T ohEE
% ®q H q91 3 5 9ISE & &Y § Goid 21 @ Th
S S i S §
3TA: ST BT I = T Bl G&AT
= (1x4) x (1x3) x (1x5)
=4x3x5 =60
79t =t! F T 60 B
44. T ueTeET W H@EAT (2005) WA € TR
it ® foiaw iR aehum @t uew afieRr e
T 1 39 ISR BT REHR T YT FRAT S
Hehal &7
(a) WIS SURTH ST ST FIAT, SEATCb! ST ST
FAT, GheqreT &l arddeh Siad § Sigl
ferenfefai o1 ==tet o wnfrer e
(b) T H Feft TSA-TEH! B GGG AT
(c) fornfei &1 sga R wara Hed-TAH
(worksheets) Lol
(d) ferenfefai =t farm sifs <
Ans: (a) TS Ug@=al # G (2005) AT @ {6
TfoTd H feid ST TehUT 1 Tk adieRT YT gl 8
39 gfUHIOT Sl WISl SUTTH HT AT HEAT, T
TeTehl T TN AT, TheqTisT & ardidsh ST 4
Strer feanffat o1 ==t § wnfrer A1 g/ g e o
e B
45. Tiger wsh Tferdadt (kinesthetic) foremeff 1 swent
Torferem goft “er Swet STRTM-Yieht i wwert
¥ ST U W GeReUAT h WY I * 1T
IR fr=fafaas & @ ffm sgg-oFT &1 w9
SHIAT AT ?
(a) Tft TRTST T AE FH F Y 39 WA &
(b) 2, 3 3T & U W A & foaw & o
el Hidl 3T M B T HE

012345678

(d) sTE-faedt Tameli W fa=sr fagadi @t fimm
Ans: (d) TagaS 6 H guen & forw sm-foredt
e & e fagett @ e sk adwr @
fa@mn s =nfiewl
46. hetm I U 3T0hT &l WIM

Ht TETIAT A&l {aTl

(a) form fopcht 3 < demnsii &t wed

(b) sl H & T gEmst % e g foren

(c) O # GRS W FH

(d) W q I we B gHe
Ans: (b) F&T 11 § 37959 (Abacus) &1 ST vl | o
T GeT & 999 G&gish forgd o feenfofen &t weremn
TET T 2
47. Afaaa O 9 e fgumE o, 99 369

Afreh BT W 21T 176 3 | ferwnfra wea §7

.............

(a) 175+3 (b) 176 =2

(c) 173+5 (d) 174+4
Ans: (¢)
176a%3ﬁwéﬁm:@:58§,(2ﬁw>
173@5@%%11?:%:54%,(3@%)
H: 173 B 5 W AR 0 T A9G AE 81 S
176 & 3 ¥ foaf & g1

48. 500 WU, + 50 HI. + 5 feRHl. =
(a) 555 HieX (b) 5055 HeX
(c) 55 #HieX (d) 500 HeX
Ans: (b) 500 ¥4 + 50 . + 5 fFH (- 1m = 100 cm)
(1Km = 1000 m)
=59 + 50 #. + 5000 .
= 5055 .
49. Ued T U AT I & G HIAT WATER
T U T i UTeHerdt ot Ueh SFf-are fee
§ =it
(a) forenfefat =t sferarft wensit & fou TR @ @
(b) ‘g@@éﬁ?ﬁﬁ%ﬁmﬁﬁm@ﬁﬁm
HAT

(c) T8 feenfidi & gemreHsar i agEr I g 3R
et qur |imaret & favwaet & gve
ST TETHAT BT B
(d) foenffll & gomoa ok waww O &
foeRfiTT e 2
Ans: (c) Ff% I8 foanffar § gomrsar & sear &t
2 3N geed qur dipaen # faiver waee d SHe
TRIE HT B |
50. 63606 H 6 oh TATHT HTAT oAl TR &—
(2) 6606 (b) 6066

w

(c) 18 (d) 60606
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Ans: (d) 63606 F 6 F M qH

60000 + 600 + 6 = 60606
AE—THT IF H qacd 3% T WH |/ =Eakd
foher T 8| 9% T 39 3 1 WM A gl 2l

51. 5671 37X Ik 3Rl ol TAE o U W H&T
T W -
(a) 3916 (b) 7436
(c) 3906 (d) 4906
| Ans: (¢) 5671 — 1765 = 3906 |
52. et TaU T Y2 AT AT hitsTd—
1x1=1
11 x11=121

111 x 111 =12321

11111 x 11111 =7 82

(a) 12345421 (b) 123453421
(c) 1234321 (d) 123454321

Ans: (d) 929 F R W 11111 x 11111

= 123454321
- w1 T 39 39 YR ¢ 6 v § e
3w §1 3o & 3% q% A forad & Rt 3ele S 81
I ded 2

11111 x 11111 =8 3R 99 3% | 7@ 1 ¥ 9f9 %
i 5 ol ofer 9 1 o e srafg 123454321
53. ﬁmﬁaﬁagﬁﬁaﬁq—wvﬁ%?%
(a) 1000 £l 999
(b) 1000%%@@1%1%
(c) 1000 % & s QHadf 1002 7
(d) 1000 % & S gHadf 1000 7
Ans:(d) 1000 F T = 1001, (Wadi = ST T=T)
1001 &1 Far = 1000, (Fdadt =G it Fm)
Teh g | 239 Raei g1 9« 3R fasi"
fglwﬁﬁlszmmlﬁgq@?vﬁﬁaﬁﬁw
(a) 239-70+ 152
(c) 239-70- 152 (d) 239 +70+ 152
| Ans: (b) 239 +70 - 152 (STAER) |
55. Weh UfAAT ol Hod QT3 &9 ¢l A 8¢ guid
et Trliear & 3T gRMER i 100 FUT 1 Tk
e a1 & S feRan Buw amow fieri?
(a) T 65 (b) T30
(c) 55 (d) T45
Ans: (¢) S ToiF UfTe &1 H.9, = 18 x 2.5 =3 45
(1 &4 = 12 FHO)
THARR F a9 & T T =100 — 45
=355
3759 x 9573 o MUK H, IBE 37eh AN T3
3eh T TN §—
(@) 9 (b) 16
() 0 (d) 7
Ans: (d) 3759 x 9573 = 35984907
G § SRS o1 3ieh 7 T91 €@ T 3 0 B
F: AT =0+7=7

54.

(b) 239 +70 - 152

56.

57. 2:58 P.M. ¥ 4 =i¢ 59 firqe Uget =T @6 &7

(a) 10:01 A.M. (b) 9:59 P.M.
(c) 9:57 AM. (d) 9:59 AM.

Ans: (d) 2:58 p.m.=14:58
5 2:58p.m. ¥ 4 52 59 e weel wHe
=14:58-4:59=9:59 am.

58. 19 9K + 19 UHT + 19 THEAN ......... & e g
(a) 20919 (b) 19919
(c) 191919 (d) 21090

Ans: (a) 198IR + 19 9. + 19 3HE
19 x 1000 + 19 x 100 + 19x1
19000 + 1900 + 19 = 20919
59. =T 567567567 T 567 W fawrtaa feram <Iam &,

A WATRS §—
(a) 10101 (b) 1001001
(© 3 (d) 111
Ans: (b) 567 567 567 + 567
=1001001
l ~
60. Eﬁmﬁé%?
(a) 4 (b) 2
(c) 16 (d 8
. 1 1 1 8
Ans: (a) RIS &N = —+— =—x—
2 8 2 1
=4
1 1. 1.1 4 1

AT —— 4= —=—=—

m%aﬁaﬁwaﬁgﬁwéwm%

e % F HE 9w gnf
URT-3 : YITERUT 37T
(Environmental Studies)

IRl WTE: S9er wieuiomi 3R et
T A W AETERAT Al 8l T I
fog, S UET SMER AX @i SMEYIehAl ¥ W

61.

........... T W R
(a) FERESTT (b) =
(c) faarfee (d) T

Ans: (d) TRRIAS HI T AR HHUARET SR ST
TG A F AETARAT B § 3k (T 3% TH SRR
1 Yo FT ARY S I T R 2
62. @I &t AT % fU A= dree § @

el # Rt STerdt 21

(a) & fcifad YUSAT HI SFa@IEd FL

(b) R A I Yg I # Rafia &

(c) U F HISE TV A T FA

(d) T F TRfET B
Ans: (a) @1 & Of d@ ¥ @@ 9T H el afo
Sl @ e e drefE % g # S 379ged § a1 39
el T g2 S|

..........
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63. T AT hi Hheu=T ol UgH | feramti=i
aftreran wrfieRar & fou fafafaa & @
-t FITerT SE-TomT ged gardt geft?

(a) WUz W ol fftm wm-mesi $ oo
ISR B g foergd & fore ferenflet | e
(b) el % wi-FEw T SR Fnfdd % Wy

G- Ees F G
FHET G T9TE B
64. IT 3T Heh o THHAW I YAk A
yfsrameit o fmfafad R wat & @ e
SYIRT oA < =men?
(a) oA, Fe¥rEH, &R, fAee
(b) &R, STe¥red, amqq, fAeee
(c) 3TaHred, faeno, faeie, ameE
(d) Tr=icq, farur amqH, sfadred
Ans: (d) 3 3 TAF & BT H 9UF B F T
SiRaTatl & AR T H TAN AT S @ S e
- freien, Famo asH, SaEEd |
65. Weh TaaT TOTI&TeRT 9@ UhiUl g o ol
THYT HT AT HwAt ¢ 3T I @t ¢ o
AAfereriyT fermeff sra= iR | & o e =
I T TS 31 T Toheeh ST 81 HehdT §7
(a) TE S HeTT STeAMH T 2
(b) faendf wo7 & ot qls o 7 T 9
(c) forfereer & erm § Wi g SRIEEAT W&l &
(d) 98 F&m § yuadl % ¥ TEud Gehea T &
R T8 L Gl
Ans: (d) Rendl vouT ©@ @9 o4 F di9 & A= &
T T g s ke s § vt afe 9
Gy GeheUdT Sl AT T8f T Hahl |
66. THAfTiad ¥ 9 WIS oM Rl hiH-AT dRichl
B 27
(a) FfesTal &1 H1eAT 3R T 3% doid at §
(b) gmﬁmaﬁtwﬁﬁ%ﬁﬁ@w
fae
(c)ﬁ@ﬁmwmﬁ%mmﬁmwﬁ

(d)gqmﬁﬁa%%mﬁﬁmsﬁtmm
Ans: (d) 9IS I & Ga9 71 qlH 78 & 5 qod
e Wesll bl 3T 8 €1 o L IHh a1 3H He |
67. TAGRUT HLTTA <ht Mot ‘a1g’ WeR{UT i

QI W I YeEiHia e wmedt ® R arg o

aR BT § 3R a8 g iRt 31 swe weaAnh 3w

%ﬁgmaﬁmwfwﬂm&m

‘g"q:%%aqaﬁaﬁ

(A) Teft 3e2T s Ut I Fag & FW W AR} 37
I ehe
(B) Wi, & AreA § S[@ Hl Wi

(C)T%@ﬁﬁiﬁﬂﬂ'{?ﬂ
(D) & M T &R TH T F atd qgn e §
mlw%ﬁ@mﬁqﬁgél
Sugdwh Tiafafet § W wE-dt wfafatiet
w1 giture st yefdta sit?
(a) A3WRD (b) B 3RD
(c) A3RC (d) A3RB
|Ans (a) A3 D |
68. mwmwﬁmmwww
foam e wR wE @ Rre-ugfaet @t
AT & &
mﬁﬁmﬁmmmmﬁ?
(a) feranfar = ¢ R gare fe@m|
ag TqoTerdr
awmmgaﬁsaﬁfaﬁmﬁ|
(c) faremefali =t UreT-Teds § § WO S TR TS
F o fIT e 3R HeheuAl ysaEett 1 3
oy HE
(d) YT 9T S & a1 1y ¥ faw e weft seet
% W fer@ar
Ans: (b) YUY YU UM & oIt IR STer-
mmag:m & Reor ggfEl & ET B §
AT T 3hd vsf Rrnffdl § @7 F&w & &
et § 98l & arg o FH qd1 3°k a8 & ag &
T F S H g A
69. Tk TITT&TeRT AT Toel ohl Ug<T Rl Hohdl &
T sreen frfaiaa soaer yefdita st §-
(a) WGTE # qUT e
(b) T I BT
(c) BERufafadt (srfaafsmamn)
(d) STHIHD FIER
Ans: (d) S i3 S SAHAH F9eR Al § d 98
g T I%T BT
70. UHET SR WY YIANT hld gU, A I¢ q@dl g 1k
el Wt WTefl et U uT ¥t § Afeh g
W Teh BIET A g Wt §1 W
ARSI fRaT ST HeheT T
(a) I H F R o Al 9 3Gh IR H
qaT # ST 8 SEfh AR A P W AT ATl
mwﬁwﬁwé
F A W T AT T IGH TR H T
%m@aﬁaﬁﬁmwﬁww
ﬁ@'c—mﬁm%
(c) T U ¥ il 8 iR & uE &

(d) ?wﬁwﬁwéaﬁeﬁawﬁ
qa § il 31

Ans: (a) T & HKI T § AT Okl 8 FAh

A i FI W A Al g 39k R H qAT §

ST 7 S e A B g g9 SN g, i arg #

..........

%ﬁﬂ

(b)

%

e W AT A 3T AR A e § B 8
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71. fraAfataa § | SfaA-fwanstt &1 s=-a1 Im
g-dreit 3R S-St ST A firerar 2
(a) S 3 IS ST
(b) S SR SHHT F SR ST
(c) g 3R o=
(d) 9f5 N e s
Ans: (¢) STe sfansit &1 gfg 3 o= g Tg-den
I Sfg-sieqeit 21§ forerr 21
72. AT W WEeM qA H & W O ok
frrafefaa o afier et -
(A) i & & 91 391
(B) T %9 7 & 39 e ofesT wga
(C) fier, Hided iR FE--sEaiiRe IF 19-
el 7
(D) & @M & a1 Foell
s Al Sudh wlel ¥ foREeRr stguTe
SHIAT AT ?
(a) C,D3RA (b) D, A 3B
(c) A3RC (d) B,C 3D
| Ans: (2) C, D 3 A |
73. = fau T a9 3@ T SremEA wU—

ST W o wA

Tt S-Sy et S S
3 H T
sfta-sig

frafafes & &9 & Sa-sg X' # @ W
Hehd &7
(a) ¥ (FUHH) (b) WM
(c) W&l (d) TTRH=S
| Ans: (d) TR F1 X’ # T S HBA B |
Z R & g Uselier (Sraaiam) B gar a1 o
TGN T §
(a) TR G bl AR BE-STE-3TEERS ST U
(b) e SfedisH & T § ged 3
(c) AR (NFRE) & 3T T
(d) T B W% B
Ans: (b) TR (3rFfaw) # gar aren v gEfere
T ST ¢ @ IHH st seRfi gt W
75. WS Ueh WS ol Ugd | I, ARt W o
AUEE WX 2 fRT T Ut | R ereRfEm ®
STEAT AT &, o I8 WX Wt §1 AT SAFAT rar §
AR UBET TT ( STerARTW ) AT UT=t—
(a) SferdisT WRd 8
(b) 7B ERT U % A A 2
(c) e fea &

Ans: (¢) S SE 39 90T & fOU 9 H 9g A
e e T W e B 21 I 9o A s @
IHH WA A8 & W &1 o U oA ¥ I e
¥ woel H S S
76. fAfafga & ® @A-WT wid i @dg &l
feoruaTstt & o | Tl 27TBT AU H{AT &7
(a) U E, Tata gar, 39w
(b) T T, TR TR, 39 wEIg
(c) B &I, T&cd =Tél, I
(d) a1 &, Ted e, HAAA e
| Ans: (b) = 3 58 W R T TR TGS, 3 IS 2
77. WAt Teh UNREX W Ueh SAW @t Uhd™ o
wEfud frefafaa gt uedt §—
(A) 3199 SAE-UE T 1 541 7 B <
(B) U & w1, Ferl 3 fHat i a
(C) ot T TRl W UM hgT & ST & af qA B
fogsa
(D) @& & 99 & foTq STeft 1 34T
T &7 3999 § % thee o O ®
STRhHAT Uar &
(a) == SN Telar
(b) ST 3R T W]
(c) TTEHES 3 &M
(d) @71 R AT AR (Encephalitis)
| Ans: (d) @11 3N ST aftsh st (Encephalitis)
78. frefafiad ¥ ¥ ®E-9 V-TUE U9 ¥
TrreReaw wu @ wrarfera &7
(a) oite, weiitan, ewfEr, o
(b) eite, Edivelifem, srhftan, stfae
(c) WY, T, 7, T8
(d) TR, HAfEr, ST (Th-3Teu)
Ans: (b) @8, EHITCllfsH, ST, s Uk & T8
& foebeam &9 21 Fifs EHenfs # S0 § T
7T B @ 3 Aferen # S s g Sl 2
79. RTHTER-T1ereR T=T:fRamett ol SUce &
T GET 399 §
(a) THeoH 3R GUR & T o=t i Fraani ik
FHASIRE & a1 H == AT
(b) TH-TW & Y TR T+ FaHfad HT
(c) UH-TW FI FHAT HI IR FHTAT
(d) foemem & @ ®© et & aR § SHad &5
QI BT
Ans: (a) MTES-R1F 3 fraRl & Suas &
P T 3 T ¢ [eeH 3R gER & U a=
# Argael R HASRE & gk H w= wen e
forenfal & SaeIREl 3R FFar & SHHH RS
F & T 31 9% I FHR B TF |

ooooooooooo

(d) "o % o & AT T 7

CTET Class (1 to 5) 29 S=eit, 2012

35

YCT



80. U UgW WA R ¥ wwa % v @ uaet
ol fohE@ OYE ATST WET ST Wehel &, TET AU
HAT W frAfafga 3R dehdleht it TRATUET
a—ﬂ?ﬁ%:

(A) 39 FIT § T & 9 B B TH G a0
¥ g < @ foed S ure R

(B) 38 T& et Fue H oue it 7

(C) 3 o9 & Tger ther 4t 7

(D) 38 BR-8R THSl § Fedt g ik R § @
a4l 81 SUAtE asdie 'B' % g @ faeferaa

fFg @ gere 3 ST Gohd a W 87
(a) @I, oegd (b)%ﬂﬂﬁ'&T
(c) IS ol (d) " gT =
| Ans: (b) &7 =) |

81. M T & Toamdan =l ‘oOour’ Yerlul U

e Ry o7 awe & fw eme Sar

Tt € for wdur gAR forg &g adtent | SUERR €

3% g few v Prefafad s § & @e-

T A 872

(a) AR St 3R S F g € aret T & HHOT
& g9 uel U

(b) AR &9 ¥ W Hal T Fwg wr & FHROT
TN TR U1 & a9y St 2

(c) S T W &g &b Sl 2

(d) T & T (tip) AR IR F = A A TNy
% BT & & forg u €

Ans: (b) 3R &7 § TR %t T a%g TH0T & FHROT

FUW TR U & 99 A B U8 e e 2

TYHT HRUT & 8 S TI0T o HRUT T A A sfeen

TS a1 & a9 o A= A 2

82. Wt oS X WS W Wl §E § aEAl %
T THTARUT-JGOUT hi THET BT AT Y @
21 gTieur HIYUT & U 9ET & AT sAfvTa
wTOH & HIETH W 2AUAT AT < HWehel 2
(a) STH-IH & foTe Talferes A e ST SN H
(b) TR W § TR I § T
(c) =ARHT aeA, SIH Thet, BR R T T
(d) TafaRe g dmr & fow =feTd aea & 5H

I Fafte 9 @ g HEm

Ans: (2) 92 U ¥ Tt W 9l e # Gl F BN

TR T 9% W81 e S %

Y F A ARG BT Y AN Y eSS

A ST H T F W G G < T

83. HYT Urer ol HHR IR THT W TITEUT
JIIF I Dferewr & uE -k AT g
AT 3N feles a1 waltd GUNIe 3UTT &
HeheT &

...........

(a) 3Y TA-FZ H F& H I F bl

(b) ARG F FOT T FET M AR HT w0

(c) U faftad % IR § fuEs & e U

e feran

(d) 39 9 o fowar & wamrEE S gfud s
Ans: (b) THR 39 9T W UATGRUT 3MeFTT H &d
& RIRrRT & I FE S A o 3E9 e & fou
T Tgl 3H A % HROT H1 GAT HEAT B 3T
3 et 3 &
84. 'Y & W & UeR{Ul WX UGIM WY Ueh T318leh

ferenfefat @ frefelad wo goar 3—

(A) 1 a1 & ar] 2

(B) =41 UHT % 31t a1 72

(C) 1 &R YR # a1y 87

(D) ¥ gt Ay e & arg 872

Rrerer Rrenfifat # frafafas & @ @=-w

I TR 0 T T &T &1 87
(a) fHie siwe (b) FEATES Hiye
(c) 3TaTIHT Hred (d) T e

|Ans:(c)ﬂﬁ?ﬁﬁﬁ?‘lﬁ
85. Ueh hall U 31 ¥ & Tt oI feremeff §1 5% e
ferenffart & T o & forg frmferfiaa o @ wm-
T SE-ToAT Ta wuret BRfr?
(a) 3T SR F FASK &1 H 9g=E BT K]
IS TR YRS 3T 3T HIT
(b) 7@ GHfEE 0 f 3 fafia &9 9 faames smd
(c) 3% W W FH & fou 1l -+ <
(d) 3% 3TTel dfth H SSMT 3R Ik HM H AMAR
AT HEAT
Ans: (a) 3¢ 5 e & 3itgd @ &9 3% aH 9
B & dl 3% Tl BE % SR oM & U Y U
Tg U1 HTT BN o 9 e & F ge HHSIN @ adr
fiht 3= IHh STTHR GHRIHH IUTF B & |
86. Uk Wgeid UI-UF S ok ferq fAferfad
SO o ShH | W I-HT Tt adient 32
(a) fesTea TR T, w99 foramn, sis-aemr dar
FI, sqfiie ¥ oA s
(b) S @ i SHH! Gured HT, e 4
i & safie (FWEn) dAR &, 3-
RISEIRIGEET]
(c) ¥ fora, sfiie (FR@n) daR &, fesme
T e HTT Sfe-FremT fora
(d) fesTea TR B, safiic FaR FT1, T fora

Ans: (d) I ¥ 99 99 F 1T F99 e IH
fesie daR & R soffiie, we foraar ik s e

e AT 3N R 376 IS a9
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87. Weh heTl o STTUTT ‘37’ & ‘USiferam iR wrae
& el ¥ Rt yewor ugm & fau
‘weetfifean dheger’ @1 wERT feRem TEn @t
AT ‘&' T WA &S W ARG A G Ugran
TN AE W g YT AT R SIgWTRT ‘e
forenf¥iat ¥ uw eaw W e yeRor s wwe o
AT T T T I & Tehal & TR
(a) =g Y s Sia-Refael % i Tordie @
(b) FeeHifear wmiEl & YA STeNgd St
firereerelt 21

(c) TTI-g= QLT deak Tuwor & forg weft et
! wnferet Fd §

(d) A 1S U = g W AR 7

Ans: () FET & I ‘37 H ULIfead 3R Hrad &

deli § ‘Rebapor ool YgH & fouw ‘Aeemifsar

FA F TN AN T B A G W ARG T W

TG S 2§ S8 H S e R T Rl % oE

T g 9o 6 o F oW I I TR 0%

YR FI T O § I9H G FRU ¢ 5 qea-geA

gmiEt SeR guReT % forw gt st @ et S €

88. e W 'WINUT' WhIUT kI TR 3Tk WAt
R ¥ 3 & foTT ues freres @t
(a) faffat & e foftp afew @iem ot sua

A (WIS # 3@ & fau se aike der
T H et B e S ARy
(b) e el ¥ W AR IS % SerRw e |k
(c) TAMIE R qrEH-07 H 3G T 91T
(d) wHa-afdi 1 yfoey fa@m =T

Ans: (a) F&T H GINOT T THOT H GR=F AferE Ty

% ¥ o % fau fukmer el @ s fofe

e WioH 3R ST Gl i 2@ H e qgr ae o

IS T B

89. IMUA LT (Engage) WS /AT (Explore),
ST AT (Explain), TR 29T (Elaborate),
3R geuiehT T (Evaluate), TR o worelt
foreror & 2 uier weeaqut 'Es' €1
3T & oI SrravTes Reafasl ot Heheum @
TS AR AIHEl i o wr SucTser
wd AT Tk fage rges 3@ fafafaa
Tfefaterat i o feTy sgar & :
(a) AT B TR T F W IR 3F T A e § W)
(b) & et o fiSi b1 Sraele B SN 3 IRadi

il e A

(c) T& T¢ 3R T T F4-TF (Worksheet) 1 37 3
foreren g0 & TS Sudh TRafafE ¥ s utar § @
H-T e & g ?
(a) Explain 3R Elaborate (b) Explore 3R Evaluate
(c) Engage 3R Explore (d) Engage #R Evaluate

| Ans: (c¢) Engage R Explore |

90. WA ¥ WHg aEfaaa AT grofiera & o o
UgH o i, faene g wiafier wemsit &
W@ﬁﬁmwﬁ'{@ﬁ ST & ST AT )

(a) FEIT AR = i Siaq-RafE & 99 e

(b) TATEROT TEIOT % fIT Hrvredt & faehE

(c) Ml guor § Il o WY AN oA

(d) S & uft g st S

Ans: (a) F& REE F arafas Sieq Rafo= & @y
SIECT

arT-4 ; &=t (Serfeasn)

fordwr : ffer@a woAl & ST o & fog qed
3fera faramen g
91. Ueh U 31fereh TN AT YRT—

(a) FHEE St i agm 8

(b) fererert & forw Temy e 2

(c) HIMIH faehd & eras @

(d) fosit off uep e # Frqurar # amereh @
Ans: (¢c) T T 3iferss 9mies 1 &N g9R WIS
fora # TerEs BT ¢ 3EY SgEl Al &1 faw
2 21 W & 9 9 # eifigly o €l 2
92, I Sreen ahl WINT @ |9a—

(a) 3% e H 3T S ARy i 37 W e

o faam S 9%

(b) 3= fafrm wfves wiefafeEl & wnfrer 78 &0 =@Re

(c) T URT Al Wed-T&ish &1 T fohal ST =mfeT

(d) feh--31fereh HiRgeh WIS & AN HTAT =T
Ans: (d) 3% R =i F 9w fEd g =@
HEYTH Bl & 1o I e Nk ¥ Afereh wifasy s
F A B A I ke F T 37 B FEA
Tifgwl 7 f5 3% faftm aiftes nfafafr & wfter ==
FHT AR
93. JrefheR TR WX WIHT I UTST-YEehi W TR TG

Y TEATRA St T oo T wnfew?

(a) Tacsf wifees &

(b) T A S = % 9RAw ¥ S & e

S8 AT 1 STAT-3TT BeTd &l

(c) ST T &Y ¥ el W SR &

(d) Haet FHETar 1gar g
Ans: (b) W% TR W 9O USH TS H U
WA W S AR Soaed & oRaw ¥ S @
wE g & a1y e e gess sifefaaat g
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94. frAfafga § & SIH-9T Soal T HIYeh &war
o ATHAT T Tod Stora afient &7
(a) ‘Seer, ‘emEme, ‘fafsar, a= anfe g vedl

F YA Fd gC TF FaM! faray
(b) | I RS H T HRY
(c) T i gRenfya ST
(d) T wI=E & & IS G

Ans: (a) FE fawcdi & s=ai &t ofvs W@ &

bl 1 Faifees 3 @l & 5 3% aed, EE,

fafgenr, a=a ofs ¥F = & WM FW TC FaA

TG HAT S |

95. Soell ol HIRgeh IMWHIh ol fAhTH & o
foT word W woret et wi-Ar §7
(a) SATHT-IERT HET-37E
(b) 379 AT T AU
(c) ST ST
(d) Gare-aferredt

Ans: (a) F=di @ Hitgsh Afeafd & e & H &

fore waffess &0 gt Tl ST e =T &5

ST HTAT| Sk 3T SFIHET F1 AV HLAT, A=A

FET Td GaE EElt w1 g & difgs sifreafs

&1 faerd & & w9t e g

96. fr=fefaa o @ w=-w1 Tyt wmar-freror =
Sy TE 2
(a) fafea &, fRafoell & = =t fafors syfeeall &t

A & AT H o
(b) &= & =T Famt S e HE
(c) s STtem & o= & gugE dor deH e

F1 fosr
(d) Sre P & % Y fora it emar &

Ans: (b) &3 T fgwcdl ¥ = & sl famt St

ot T fef e e &1 3agva 9@ g1 SefE

s ST § B § gug dqun S @ eawar &6

fospre wd drem % oTEy fored & awar &1 faw

faefrer s fereor a1 sqEw 21

97. ot @ & @ *E-WT wRe  Haiew
HEEqul 7
(a) T & SHAOTSH =
(b) S W AERT TR
(c) WIS i TSI-T&h
(d) 995 Wi FrrEw

Ans: (d) 9T 9Rgd & AU wgg wifve ameR &

Ao gaiferes weegel gfter @R 21 W e &

S & {57 91 §gg Hary T & Fehell |

98. T&=t WTNT AT YearTeh Shid WO 3T TaH ST
forel wgea r?

(a) @ I & 1 3Miber (b) Hrea-did
(c) frey formm &t aramr (d) =R fam

Ans: (a) 999 F GHAT B AHoA B AW F
Tedish & Aeeaqul it ot Fat @ 7 6 BT diead
ey e &t AT v e e
99. Ueh TEWING Al W 3N fFT TN HH Teed
?
(a) faf¥e ¥R &1 a1 Wifee
(b) T # fafe wHR & e
(c) F & Tglh 3N Tgapiad T & W
RECENIGR)]
(d) s=ai & fa@mr 5 & amei & qe famme
QAT & TR T Fversor S8 fpan s 8
Ans: (d) T% g Fe | 35 foehedl § 9 Faife®
FU Hecd dedl B g8 @ 5 @ amel & oA
fem QAT g SR T gy S8 & =Ry
100. WTST ST UTST-Y&ieh b1 SHIUT ohid OO Hord

A HEcaqut fag §—
(a) el § afqes (b) WS & g
(c) fowa-awg # afaer (d) W S fafte serd

Ans: (b) ST &l U TS H1 W07 A THT FaE
eyl fog € - el # dfaen fawg awg § A
g 9 i A Berd| g9 ofdid uish #i gw@ &
FE e T 2
101. SHTRAT—
(a) 9o TGlE H TR F e @
(b) T G F aen S S 2
(c) W HRad # U HEequl wHee g
(d) s HRg" # 9ga o< A @
Ans: (c) SgHIEaT, T HiE § UH Aeeyul deree
B 2, THY & U SgHIIeg S S Hehdl 8 S %
A I dr fadw i fafay et & eveavesar &
SFTHR THH I 3ued § IUGRT HaT 2|
102. wTeT—
(a) forameg & & <ieh ol @
(b) T Frmeg e g
(c) T3T AT & Forgmi &1 & ST Bt @
(d) Fremdt & e ¥ & fraed 8
Ans: (b) ST U Feves =awen 8 8, =Ied § &
TS AN AR 98 Rl & A1 SSh a1 afta wee
AR R FraHas RO debel g 2, 39
TR & AT W s b S ST g 2
103. sree! T 31 | ugei—
(a) 3T 91 H TIHEE I H AEERE
FUC & Y 3 &
(b) F =T e §
(c) T 1 G ST o § gued 4E & &

(d) o & =R e W gul SR W@ §
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Ans: (a) 9% I=0 & 395 AQ-AT e d9W 9
e Sierd, gEwe 991 &1 R gene s off
QTR e Afeehar o Faw &, SuH a=d &l g
A 2|
104. HTET-TSF T AET-RAH &% HId | HiT-91
T WE E 2
(a) HT-3rt & fafe Geheaard qrgamn & s §
(b) “Te-37ferma gyt g 8
(c) WI-37SI Hesl S w@rwifee 8T & Safh H-
atferm el g 8
(d) Tiepfaes fafemr am-atsia R o s B
T e aTel Heequl B §
Ans: (b) ST TS T 9797 A § gHN STARE H
WM o uedl 2, i R off =afam & wmr &
wequiar @ft ST 8 S 98 3T WSl S YRt B
o EE HA 2|
105. e Ugelt Hell | Ugdt ¢ i a8 'Hgr I aga
7T Tl §1', ' H oreR W1’ 3T ARt Rt WY
HIAT g Hfer—
(a) WRAT Fac G F & ST S 8
(b) Faat fefm &t 3f¥ ¥ & wdam 1 TE wE
HTT A &
(c) Faa W ard ae & diet gt @
(d) fefm, =, fram onfe &t 3f® & wedam &1 yam
HT S R
Ans: (d) AT Tt e § gedt @ 91 9 fom, a=e,
fore e & gfd ¥ wAm & YA HET ST B
Tordor: RferaT st UgeRt Frefeiad wo=t (W.H. 106
o 111) ¥ wow 3fua fashew g
Afeaf, gdd gar, U ¥ S ¥ 9@N
TIY, HHA T-AT AR,
ST ST S T,
S qH AR T § A R R,
B 9 81 Sie 370 WY © §9R,
Fe-ard, i, Sl
TR 3R R gareh
= # S 3HT A € g F SwmR,
qfeha § faemr @ Sfed,
T T 34 S e
qefeRr GiRad 7 & @ @ 99 IR
BU-9 81 e 379 =y @ §9R
‘&= 9T St <At 3ref E—
(a) Tg-0& § oy e (b) & T F o S
(c) BRETEf-ah Sfem (d) Gl & oRyf e

106.

Ans: (d) 8T 9T e § 3 7, T She s gfvwet
q oRyel 81 vl W wuEE o fawe oRakre T g
B AT 3= & 3= =T Bl |

107. - TS TeR At et 872

(a) Al & emars (b) WISl & =ifeat

(c) TUE Jipfaeh SURH (d) UST I gar
Ans: (¢) STa H T Wifaes 3UEH @18 o At @,
Ted &, T & a1 g4 &, TR AHL ST & |
108. Shfer ¥ QY 1 SUER fer et &2

(a) g

(b) B-4T

(c) TP FATT iR Y I g arei Gt

(d) dtgr T eiferat
Ans: (¢) T 4 ‘GE 1 IWR THfs Yo vd T
I € el G Bl el R |
109. S Tg T AT ITeeT ¢ feh—

(a) S ¥ H9 IR &

(b) THERUT-HET # & Sae gae @

(c) Wl & Yg-0id, Afeat, wda wnfrer &

(d) ¥ F Ug T =AIfRY
Ans: (b) YT Ffaar & wEAW ¥ HF @ WE HEAT
aTedr 2 o Aa Se qateRer wweor # & 9va 21 s
TiERoT & e e S W W Gehel 7| i ey
qieRer & e & @ e ST e 2
110. 7T ¥ g7 3R g7 ¥ § =W "R U &

TTEAW W i heAT wTEar § feh—

(a) =R 3R HER 2 1 A TH-gH

o foreft e @

(b) TER =TAW ¥ fIU SRR &1 STEvIHA ot 8

(c) =R 1 e GOR ¥ w7 8

(d) HER & i =fedl O a8
Ans: (a) ST ¥ T IR T g @R HOR W U
& W ¥ Ff Fe 9wl ¢ o= o gER
T 1 e T W PR 21 ol 3 Th-aW &
T 2|
111. ‘o7guw’ | Aoy g—

(a) TET (b) s

(c) HARH (d) forat 3w 7 & 51 T
Ans: (d) 3T ¥ R & et ST T & 1w
o ST ST g &

fder: TrerioT W wgeRt frfeiaa weel (WAL 112
A 120) # werd 3t forerew gfom)

IS # FA ged H gEaT W UH FemdA fhar
T 59 ARG § A9 @ & awdl & 99 qad @ M- T
T J I=d S gHFE F § W Thel F& o, T T
ST g Herer § iR what off I § iR w3
Feal 1 o1 S A I § W HA W HE TG T B |
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Y UM % AIE FARAT HATd I8 M| I & W@ H
Hare # 3 whell Tt 7 S HAR AL €, Hias To
I T # W agd FA fEer, afed e S
THFMER | Tpell geal 7 T @t F @, e Fre
T T ST AT TEE A% Tfed & & ghmad @
TS TU d=d feua @ H TTerdt T B Wehd ifh S
diem 3T 3T M W Ugdl 8, SEfh ol & aed @@l
feeme e # ST TR TeAEl e 34 8| 3HH I8 W
g 8 6 R sl @l Ueedd el d 3w aw %
Tl ¥ SEET el @, d oTud forw Sed v e
B T o €1

AT T & 39 9 W o IR HT "yt @ 6 5|
TE &1 2&AE Th T e A Teh Hrd-aF deh Wi ghah
® S €1 Sy 3 Wi o Wi aRa S 3
T T TgH § UGS FI ¢, TE 3T I B TP 3R
Wit off T b B
112. GHETRN T & WIS U e e1eaa fone

fors=r & a1 gom ar?

(a) HHISR fersm (b) TIoT

(c) s (d) FHrErd
Ans: (b) THEST H A WiH W IMERA TeAa—
T fawT  S[eT gam o

113. TerTT s==it 3 AT o7 i W HIRgeh TUET ol

TITST WA feRa?

(a) S R et ST &

(b) S &= T A THAET B § IR A & WA I &

(c) ST Tpelt T=d FHFERT FE B

(d) S gFMFE F §
Ans: (d) TF F=3 S IHFHIR FA &, T B FA B
# Hifgsh TUET F AT VAN fRaT| i e #
gHE 34 # tfEdr B 21 3aud §EH & SUR W
T Ted Sl 0T S oAl ST 2
114. TT=BT oh AT U hel ST Fehell & Toh—

(a) == TS & e § &M T arell germsil i

e & giftel X od §

(b) Tt gehFeR = & T g g &

(c) T=at i T dieT =Ry

(d) a=ai = T G % foe gEme FE AR
Ans:(a)WW%WWW%WGTW%
foh o= Yo & e H M ST arel gerstt @i
: & eife R od &1
115. THTER ool TEHTe o | Y: Terdt TEi shid

FANfeh—

(a) o & off Tt T FW

(b) T W S ITh HM T ISAT @

(c) 399 3% H-fuar ¥ sic ueht

(d) 3 99 § & g @ §

Ans: (b) B =1 S f FHM W Sah THH I §
a1 feame-fhae off 3@d €, 3 39 ¥ 2@ 99 F 99
Y b T qUT THHAT T THAA T
116. ST TIATT UR <feh g B h1d A&l AT 30

FHRT Jegi- el —

(a) TE-37%T 81 @A & (b) Selisoish Biar &

(c) T &Il 2 (d) 371 Bl 2
Ans:(a)wgq%mgﬁﬁwmaﬁ%ﬁ@
7 G @ afesr § B o T o @ 39 s
yauia frd-get &9 # & 5 W 2
117. 308 o IMUR W oaRY (% WHNNE o

Witehiereh TRAYT AT &l —

(a) Wt & geer @

(b) T # weg off FAT & 3R Y TP, G of

T AT 2

(c) M # Weg HTdl 7

(d) Hpi B bl &
Ans: (b) I T TSR SOf 8, 3R 98 STe-se
% -G TRV Fad T80 HIAT ©, a9 I
SFTER & TP a1 forega TR0 1 The HI B |
118. ‘3R’ WeIT T SSTEIT &—

(a) WEHfTH (b)

(c) e (d) "
Ans: (a) 3H IO & RO R MY fawed #
TiEplas a1 T YR o1 3T 3F T § gt
2 - diftgs, FHfke, Tafifs, s, v anf)
119. ‘TTfOTe’ Rt o7t §—

(a) Hie T (b) AATEA TIUTT

(c) THUEg TIfTd (d) T-§-79 fega @
Ans: (d) FTOT 1 39 79 & 09 R e F 2
I G AN RS G 8 H 8q U A H &
-7 L A
120. GIH TohAT T IETEITT &—

(a) SFH Frerd & (b) o o §

(c) Thet ST & (d) 3reerE fepar T
Ans: (d) 95 fFar &1 @0 f@ @ fawed ®
“srezrg fopan A € SfuA e & 2

9TT-5 : ENGLISH (Shfeueh)

Directions : Answer the following questions by
selecting the most appropriate option.
121. The main responsibility of a language teacher as
a facilitator is—
(a) to provide a lot of information and make the
learners listen to it
(b) to strictly control the class and cover the
syllabus in quick time
(c)
(d)

to read the lessons aloud and provide
explanation for each line

to create a number of opportunities for the
learners to use the language meaningfully
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Ans : (d) The main responsibility of a language
teacher is to create opportunities for the learners to
use the language meaning fully and appropriately.

Hence option (d) is correct.

122. Which of the following will help learners take
greater responsibility for their own learning?
(a) Controlled writing tasks
(b) peer Assessment
(¢) Summative Assessment
(d) Supervised reading sessions

Ans : (c) Summative Assessment (TTTCH 3Tihet)
helps learners take greater responsibility for their own
learning. Hence option (¢) is correct.

123. The main purpose of assessment is
(a) to give practice in writing
(b) to improve the teaching-learning process
(c) to decide pass and fail
(d) to measure achievement of learners

Ans : (b) Main purpose of assessment (e3ieh) is
improve the teaching — learning process. Hence option
(b) is correct.

124. When young learners are taught to improve
their spelling and punctuation, they will
(a) nurture their creativity
(b) sharpen their listening skills
(c) improve their accuracy
(d) enhance their fluency

Ans : (¢) Improvement in spelling and punctuation
will improve their accuracy. Hence option (c) is
correct.

125. Instead of asking questions and getting answers
from her learners, a teacher gives some short
texts and asks her learners to frame questions.
Her primary objective is to
(a) make the learners realize the difficulties faced

by teachers in preparing question papers
(b) enhance the learners' analytical and crictical
thinking
(c) train the learners as good question paper setters
(d) take their help during examinations
Ans : (b) Her objective in making her learners ask
questions from the given text is to enhance their
analytical and critical thinking. Hence option (b) is
correct.

126. Reading between the lines as a sub-skill of
reading mainly involves
(a) giving sufficient space between lines
(b) inferring the unstated using the contextual and
verbal clues
(c) indentifying the grammatical item
(d) understanding the stated facts
Ans : (d) Reading between the lines as a sub-skill of
reading mainly involves understanding the stated
facts.

127. Correct speech habits can be developed most
effectively through
(a) Vocabulary practice
(b) Quizzes
(c) Dictations
(d) Pronunciation practice

Ans : (d) Pronunciation practice helps develop correct
speech habits. Hence option (d) is correct.

128. After reading a poem, a teacher involves the
learners in group work. One group writes the
summary of the poem, another draws a picture
to depict the main theme and yet another sets
the poem to music. This activity
(a) caters to diverse abilities and interests
(b) is aimed at preparing the learners

assessment
(c) will distract the learners from the lesson
(d)

is a sheer waste of time
Ans : (a) Various activities in group work caters to
diverse abilities and interests. Hence option (a) is
correct.

for

129. Young learners will enjoy a play included in the
text-book when they
(a) enact the play
(b) get detailed explanations about the play from
the teacher
(c) read the play silently
(d) listen to the teacher reading the play
Ans : (a) Young learners will enjoy a play only if they
enact the play. It creates multiple opportunity for
learning. Hence option (a) is correct.

130. Under Constructivist Approach to language
learning, learners are encouraged to
(a) avoid errors completely
(b) practise language drills mechanically
(c) learn the grammar rules by rote
(d) discover the rules of grammar from examples

Ans : (d) Under Constructivist (T@€NTd) Approach
(3UFTH A1 Ygf) to languages learning the learners are

encouraged to discover the rules of grammar from
examples. Hence option (d) is correct.

131. After a story-telling session, the learners are
asked to change the ending of the story. This will
help the learners
(a) develop library reference skills
(b) evaluate the teacher's originality
(c) become imaginative and creative
(d) understand grammar better

Ans : (¢) Changing the ending of the story will help
learners become imaginative and creative. Hence
option (c) is correct.

132. When young learners are asked to read a text
silently, they should be instructed
(a) to infer the meaning of new words from the
context and read with comprehension
(b) to pay special attention to grammar items used
in the passage
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(c) to read fast even if they don't comprehend the
meaning

(d) to stop reading whenever they encounter a
difficult word or phrase

Ans : (a) Write reading silently young learners should
be instructed to infer (JHM) the meaning of new
words from the context and read with comprehension.
Hence option (a) is correct.

133. The primary objective of using role play is

(a) to promote the reading habit

(b) to improve the communicative competence
(c) to develop acting talent

(d) to evaluate dialogue writing skills

Ans : (b) Primary objective of using role play is
improving the communicative competence. Hence
option (b) is correct.

134. Language skills are best learnt

(a)
(b)

if they are taught in an integrated manner
with the help of challenging and mechanical

20.

25.

30.

35.

method affects only that area of the body supplied
by those nerves. In local anaesthesia, the drug in
injected directly at the site of the operative incision
and sometimes also into the nearby surrounding
tissues.

Formerly the most commonly used local
anaesthetic was cocaine, a drug extracted from the
leaves of the coca bush and introduced in 1879. But

it has some disadvantages and, sometimes,
undesirable

side-effects. For spinal, regional and local
anaesthesia, procaine, or one of the several

modifications of procaine, is now widely used
instead of cocaine. For very limited and short
operations, such as opening a small abscess,

local anaesthesia may be induced by spraying
(rather than injecting) a chemical, ethyl chloride, on
a small area of the skin; in changing from the liquid
to the gaseous state, this drug freezes the area
sprayed, and

(c) when they are introduced in isolation, one skill | 40. permits painless incision.
at time 136. When a part of the body is anaesthetised,
. . P y

(d) only through written tests and assignments (a) the body loses its consciousness
Ans : (a) Language skills are best learnt when they (b) the part gets excited
are taught in an integrated (¥fcTd) manner. Hence option (c) that part loses the ability fo feel any pain
(a) is correct. (d) the nearby organ loses its function permanently

135. Substitution table drill helps teachers in Ans : (¢) When a part of the body is anaesthetised

(a) improving the fluency of learners
(b) evaluating the listening skills

(c) giving controlled language practice
(d) developing free writing skills

Ans : (c¢) Substitution table drill helps teachers in
giving controlled language practice. Hence option (c)
is correct.

Directions: Read the passage given below and

answer the questions that follow (Q.No. 136 to 144) by
selecting the most appropriate option.

10.

15.

Anaesthesia in any part of the body means a loss of
sensation, either permanent or temporary. The term
is usually used to describe the artificially produced
loss of

sensation which makes a
painless.

There are four main types of anaesthesia: general,
spinal, regional, and local. Anaesthetics may be
given as gases, by

inhalation; or as drugs injected into a vein. A
patient  given  general  anaesthesia  loses
consciousness. Anaesthesia of a fairly large are of
the body results from injecting the anaesthetic drug
into the spinal canal: all

that portion of the body below the level at which
the drug is injected is anaesthetizd. Regional
anaesthesia is the injecting of the nerves as they
emerge from the spinal column : the anaesthesia
induced by this

surgical operation

that part loses the ability to feel any pain or sensation.
Hence option (c) is correct.

137.

The real purpose of using anasthetics is

(a) to perform operation without causing pain
(b) to artificially produce loss of sensation
(c) to cure patients of diseases

(d) to make patients unconscious

Ans :
without causing pain which is clear from line 5. Hence
option (a) is correct.

(a) The real purpose is to perform operation

138.

An anaesthetic is inhaled when it is administered

(a) asagas (b) asa spray
(c) asadrug (d) by injection
Ans : (a) An anasthetics is inhaled as a gas which is

clear from line 9. Hence option () is correct.

139. When a gas is used as an anaesthetic, the
anaestheisa is
(a) local (b) regional
(c) general (d) spinal

Ans : (¢) When a gas is used as an anaesthetic the

anaesthesia is general as given in lines 10 & 11.

Hence option (c) is correct.

140.

Spinal anaesthesia is resorted to when

(a) the operation involves a big area of the body
(b) a drug has to be injected into the vein

(c) apatient has to be made unconscious

(d) asmall area has to be anaesthetised
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Ans : (b) Spinal anaesthesia is resorted to when a
drug has to be injected into the vein. Hence option (b)

is correct.

141. The expression 'the site of the operative incision'
(lines 22-23) means
(a) the spot at which the anaesthetic has to be
injected
(b) the area of the body supplied by specific nerves
(c) all the surrounding tissues
(d)

the place at which a cut is to be made
Ans : (d) The site of the operative incision (ZRT)
means the place at which a cut is to be made. Hence

option (d) is correct.

142. An 'abscess' (line 34) is
(a) a collection of poisonous matter in a hole in the
body
(b) an open wound requiring surgery
(c) adeep hole
(d) an operative incision

Ans : (a) Abscess (BIZ1) is a collection of poisonous

matter in a hole in the body. Hence option (a) is correct.

143. The word opposite in meaning to the word
'formerly’' (line 25) is
(a) later
(c) industrially

(b) significant
(d) fortunately

Ans : (a) The appropriate opposite for 'formerly' is
later. Hence option (a) is correct.

144. 'Anaesthetic' (line 25) is
(a) an adverb
(c) averb

(b) anoun
(d) an adjective

20. for along the ribs, peeling the wool back until it
hangs like a cloak doubled back over the animal.
Then he turns the sheep over and begins on the
unclipped side. In a few moments the whole fleece
falls away in one

piece, looking like a dirty gray rug. A few more
snips from the shears and the wool is cut from
either side of the sheep's tail, leaving the animal
white and naked. The shearer pushes the sheep to
the ground and

25.

30. immediately calls for another animal. Meanwhile
the lad daubs the farmer's mark in pitch on the
newly shorn sheep, unties her legs, and drives her
out of the shearing pens.

35. A second lad — the farmer's son-seizes the fleece as

it is tossed aside, rolls it up, tucking the tail-wool in
first, and secures the bundle by knotting the neck.
Any loose dippings are gathered separately.

The work continues till one o'clock, when the
farmer's wife summons the men to dinner. Each
man finishes the sheep that is beside him, then the
whole party goes back to the farm house. The men
troop into the

farm kitchen, leaving their dogs to scuffle in the
yard. After the shortest of dinner-breaks - for there
is much to be done - the shearing continues and the
pile of fleeces mounts.

What expression in the first paragraph suggests
that shearing does not take place very often?
(a) whetstones (b) shearing-day

(c) improvised (d) flock

Ans : (b) The word shearing-day in the first line
suggests they must have a fixed day for shearing in a
season. Hence option (b) is correct.

40.

45.

145.

Ans : (b) Anaesthetic in line 25 is used as a noun.
Hence option (b) is correct.

Directions : Read the passage given below and answer
the questions that follow (Q.No. 145 to 150) by
selecting the most appropriate option.
The farmer is up before dawn on shearing-day,
driving his flock into pens. By eight o'clock the
shearers arrive and, after a hearty breakfast, they
take their places on
5. long benches that the farmer has improvised in the
pens. Shears are taken from leather cases and
sharpened with whetstones: a fire is lighted to heat
pitch for the marking: and the work begins.
Soon the shearers fall into their routine. A lad
seizes a sheep from the pen and ties its feet — not
with a cord, because that might injure it, but with a
strip of sacking. The sheep is carried to the
benches, and the
shearer begins to slice off the wool. First he shears
the coarse wool from the sheep's belly, they lays the
animal on its side on the bench between his legs
while he snips at the curly wool round the neck. He
works to and

10.

15.

146. The shearer first cuts the wool from the ..........
Of the sheep.
(a) tail (b) legs

(c) underside (d) ribs

Ans : (¢) Underside means the belly given in line 16.
Hence option (c) is correct.

147. Why are loose clippings of wool gathered

separately?

(a) Because they are needed to fill up the top of
the bags

(b) Because they weigh less than a whole fleece

(¢) So that they do not get spoiled

(d) Because they are not so valuable as whole
fleeces

Ans (d) Loose clippings of wool are gathered

separately because they are not so valuable as whole
fleeces. Hence option (d) is correct.

148. Wool which has been sheared from a sheep is
(a) tied with sacking
(b) bagged on shearing-day
(c) cut into two pieces by the shearer with a few
snips
(d) rolled and bundled
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Ans : (d) Shared wool is rolled and bundled as given
in line 36. Hence option (d) is correct.

149. What word from the passage best tells us that
shears are like a very large pair of scissors?

(a) slice (b) sharpened
(c) snips (d) cut
Ans : (b) In line 7 we can see the shears sharpened

with whetstones. Hence option (b) is correct.

150. 'The sheep is carried to the benches.' It is an
example of
(a) passive voice
(b) degree of comparison
(c) an interrogative sentence
(d) anegative sentence

Ans : (a) The sentence is an example of passive voice.
Hence option (a) is correct.

3A4AT
WRT-5 : W (Aehfcdeh)

frdor ;. waifrer  wHteid faeRed e
frfaRaaugarm 3ok daar |
121. BTN ATHUTERIITA- fererramef  eaf-ehier SUST:

el Il ?

(a) TUTLHT-STCTEER

(b) ST S79ET STI-gIIHHHT: FATER

(c) YercarenRa-serar: fqeRur-shar g/

(d) SAGRIT- - 2auT-a9=rd YIRS | | Ans

SR 7] HAHLTER
Ans : (d) BE % 9= GO FA F GEH F A
AfEfd af-san & W g R () s @
YR SR SRS G AU FHATBAT FHT HET
gl
122/ UaRTATT'-  GRT  FAUT SUSKIITATATH  STTehet
ferarar
(a) TReTEY (Tone), &R, Tfd:
(b) AT, ﬁ«‘*ﬂa@@wﬁ
(c) TATAMY, WRasd, ga4
(d)WWWW@W

124. 5 5HAEE 3qTeUH

(a) rT=R: (b) FrreTem
(c) THFwil (d) Toges:
Ans : (¢) §% GUE & 3¢ A T fwedt ¥ g-

THFWN B1 @l W A UL JUE @ a1 3% qed o
‘S v H AT B, 5 GAE B 81 I IETRWT §-
TI-TISTE, AT, THAHU, AGF S|
125. 999 TR 1fiymar: 3la

(a) AT HIHAHA ITaRoH

(b) ST THHFT FHEME T

(c) sf¥rerome fygT-sfare

(d) Hafaasyor faseramm: wef:
Ans : (b) TRIYT ¥ YT I U1 H GEEE BT |
3O YT eF A gl 9l # G TESE I el 2
TR AT 1 FAT & AT G & G B
& JAE & &9 § S ST R |
126, TeTfyTeTUTTe HETAYUl- 3TawRr ST
(a) T fenfe: afche-famamgean: @t
(b) TaT BET: Y YRR &F Wl wafd
(c) I BAT: T IE THA: WAt
(d) I<T AT SIS T syafed

: () 9T YT o Heequl afteRr 7 ® R R
A AN IS H YO W A1l 37l 3T 39 e W
9T g % 390 GuF § ‘amrd SHe e @

S |

127.9R9T DIRGGH 3TEvaeh § iyl & |
(a) YRR YRSATEH: TG
(b) 9= WM T fog-E,
(c) T, TR AT FAT:
(d) VT T M ST HEIEHeEAY

Ans : (b) I WG & fIT & Hivrel 3Evas 8d g1 9
§- T SR s T faege @ g9

Ans : (a) THIETT (STAIAT) GRT A9 STHIITA BT 3Ther
fepar < 21 9 ¥ (1) W el (2) @ i (3)
T |
123, STTHT- STSIHEEAT THFIeh, URANUT TFyT: 37Ra-

(a) <TRIHMTAT: S | fRad

(b) T FaT AR Y HERH wWifhaAd

(c) T BAET: AT Hishar: waf<

(d) TRASIISTHH AIGHTITET: SAIT: FaT Hal fohad
Ans : (a) TT-37519 I gfe § g aRa H Af
fed T fabedi § @ fasew 3- A W w1 AN 7
FAT FEfR AT A B T T W SR @

12897 BEM: HICEA JEURT HATg wwgi: =
qaf+a AT SUSRIceh ShTdl ok WlreAfer?
(a) FEEEAOT A
(b) FEETAHRIV, STHIT:
(c) TR0 ATT:
(d) FERITT 0T TF: T TR

Ans : (d) S BT HA B SFTERO A § G A& B
@ IS &8 THR § e T AR,
ACABN A TR-I TLOT FHIAT ST STHE S|
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129, FAdeATIR YT AT
(a) BET: G AF=T FEAHAT qqfd

(b) BET: SR eifes fFdefa

(c) BAT: qUiaaT STeATIHHT fg=or g

(d) SHENT JeagATheH fHafaeu o
Ans : (d) TTq A% oA o SFd ST H Jedibd
3R Seher i &9 @ fan sten 81 it et s
Y qedish F 9 BE B =A% W @ S 2

130. GSATHRUSTE ISTET0T
(a) TSI TSN,

(b) f‘ﬁ?@’@aﬁﬁ:{?@ﬁwiﬁwﬁa‘m{gﬂﬁ@ﬁa

Ans : (b) GoHHS TS & 3BT 8- =1 ghespor 4
AEHHTT B GfEE H e IR EeEH ¥ 2
YIS U § Sl F GgHel fow sravart |l
Sl
131.fa@gw-32AT (skimming) T8A ARy ea
(a) fafbreq v sroen Qe oG SrqUTOIGTER:
HEIEGRINCEEE
(b) faRaqarmpEn ardfegert g 9B
(c) ufeaamrE faame Mg gemmef = faofa:
(d) SHF-amere fare] fgEr §R W) qiedad:
REGRIRCEEY
Ans : (a) e 3fe ¥ yga &1 v fafdre o1 sryan
Yo o B WUl U e @ TR ghe
w3 I
132, UTSTere], THIET oAU 3T
(a) HRARE ST T AT
(b) ei-3TI=sa gEATeET,
(c) fafa-sreaay aeRy o1 Wew wwEd affg
Al THIEHT S

(d) FAEA ST =eraT
Ans : () TSR3 3 THr &l AR faf s
3R TRl & & W el e % fag geft am
wel & T4 H Bl
133.tfrepagrau Ty i
(a) 1 uRfRfa: Far yaures wequi-se SUf
(b) THMUTEYUT  edl  SAYORGTEUN I
FRTOT- 0T
(c) AN FH Soa: USAUTHIAT: el TEIR-
AT TS
(d) fafmegEmT ST sagmYEs-saum
Ans : (d) RFd a0 F1 29T - falme guar g
F QTS TEYHT T HEU FAT SEEEIES  HAT
foreft off gEmT F TEE U WU F F GGH 39
i 21

134. 57 sune st e

(a) G Tfafafy-enenia-vare: fves gafy

(b) TG ATHTHS-GLATET: Heh-Trary: 7 wafd

(c) TG+ W ot wafd

(d) TG ARG 7aT HerdiRTurey = waf
Ans : (d) TRGT 90T ¥ g BT 21 LA @ b o
# gRgf stgar wEden S A e g1 s §
TG FoT ST A P HeT @ 2
135. /T FEhaehaldi AUk Ehayai

T et ?

(a) Teoraepaud HxpauRayre fmfu swafq

(b) B V=T At

(c) YOG ST YIS FIHHa

(d) BE: SEHRT-IH FrHTaET=s~
Ans : (a) fFdl Tpa wen § IR Tpd & wAT 9
TE A9 BT 8 1 eW ehd WW B ¥ YEhd RA
a1 fomfor g 21

o ornfaflad volis  ufser  aerenRayvamt
(UTTEGAT 136-141 ToashearaenTny  dgfaay ST
Tereat for@m

It T fqem 7 9@ T T,
= 7 e T om T g
ﬁuﬁeﬁ%gﬂ%wwz,
TS0 YR 1|
136.@'“3@1:@941'{':'{4'&6
(a) ¥ foremém: (b) T FIfr:
(c) ¥ ufsmsfrem: (d) 3 grefiem
Ans : (a) ST 79 fem @ @9 2, 3 gl W AR wWEY
B 1 FreE EY GEERe S 81 OE e ¥ e
IO HIAT & AR A9 & HEERT N GAS o S o
T B
137311, yeiteh ' ey’ 3fa ueea fawrouaenta
(a) == (b) AEAH
(c) wm: (d) 7o
Ans : (b) 39 Yo H gfer w2 1 fawmor wedeiten 2
‘O 9 wg ¥ g FaRe ThaeA #1340 g3 2
138. gamyert=a’ sfa uew afefasse: sifa
(a) W+ T (b) T + =
(c) JM: + == (d) J + =
s ¢ (c) TUERRT 3@ WS F GY e -
T+eRf B s et % A w o w @ A
FYA T ARITEEcAIA AL AT A
91 3FoaT & ST 2
139. 39y’ gforuee faafe: sifa
(a) W (b)
(c) o= (d) gaHt
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Ans : (a) AN’ W U8 H TS f49RE 81 3HH &9 39
TR B-
Thaod  fgaea ERCEE]

e T30 q: i D)
fgdfar foo  =m 4t RIEt
g fao A AT 3
wgeff fo == ElIGe A
T fdo  =E AT Fa:
st fero I T pLIY
wowr foo afE 0 I
140.' 3@’ 3fer we yeore: o1

(a) (b) ST

(c) g (d) =

Ans : (a) T TR H F IO | THT FT ST 34 q08
o gEl ¥ @ ST vedl & qOd 1% Y9I @ U9 39 ot
¥ qdiar e fqumor @ daee e @1 g Suet @)
wifer rfeeprdl Sreater @ St 9isal o &g SIS 9§ |

141.Fr=feafaay & ug TqueRtory fa?
(a) ToT: (b) T
(c) du: (d) femm

Ans : (¢) 35 @ T fased ¥ TSR AW R
TEHE 3 T= e § S 5 (Yeig @ @) #
foTT 1o ¥ s 7 B §

frdor:  swnfaflad vt ufder el
USAYSAET  (WTHGAT  142-150) ToeReameeR TRy
wyferae 3w fan faema

FHiftaawd awfa @ Hisy fie: | o= wE W@
feaT ST W T a9 gawd: URYT YA | had
TARR Fal o fig: Fwfuq gae sEmEl gEd
@I | T Tgd: qu: faenq e gee i TR
TP Sa: | oF difed: g ¥gs: stved) d Y98 gEar
T §d e e aw wAf qeenerm f:
FAAT| T G R aqq - ‘O WS @&
fohel Tl T Afg: d9 WS | 3R q &R S| AW
AU A eFe | WoW e A gd FE | HAl
FReNY T8 R 3| g T e g fie:
TS |

142.99aT: T fTest-T &2
(a) form (b) Ter:
(c) = q (d) I

Ans : (a) T9% 9 § feaa =< g@s i & MR
W JA F M ST g0 gt g ST T 39 S
3T ST T qAH foIeT o ST FaT W T |
143.99&T: o Jeat~1 &7

(a) foret (b) figer TR

() TR, (d) &R

Ans : (b) T 370 fIa ¥ fperet g & TR W 3R
IR AT B R A1 IqH I W T 310 o1 et #
I @ g g U gebel M| e oo famm amoh §
Fel f6 37 Srer & T § SR F gz wwft €1 W ey

& T |

144.1%%: Wk o FA STEUA?
(a) WA (b) STgeTet
(c) L (d) =USH

Ans : (c) fi8 37 OR 91 gU g & FF TH H ST
FAA (31 § s o vwS I W 98 T 3ed

ST SAarfl § o799 ST @ & forg ek @ i
145.'w1fg’' 3t feramuee TR 3R

(a) AT (b) TSTAHR:

(c) WTAHR: (d) TR
Ans : (d) SR fFame § diceR 81 a8 Hed qe
THaEH H FY g1 & U A AHR TN [EH B &Y
39 YHR 8- Se/Eda-gaq-ad |
146.' ifyoreed’ yow Aferese: 3mfa

(a) HTraq + oY

(b) FHARET + R0

(c) B + fog + WA

(d) R + 30d
Ans : (b) “HRARVERIR’ TT & gty fose -

\\\\\

NN ~

¥, {, @, 9 379 HIE WX g A 3Gt F A9T owR &
sl
147.' wfy’ 3fe ue fawfem: i

(a) e (b) Tt

(c) ToaHl (d) T
Ans : (b) TR T2 F ged fyufe 21 AR ereR W
et fafem 1 €9 39 YR & A srEdErn: STy
148.T4: o dited: i)

(a) TR T (b) ST

(¢) T (d) T
Ans : (a) % 796 & 79 9 3t gam| g W @ o
3T Ml fs1 & o gues S fael ¥ faswee 39
T ITA-FE B 1 THH 3T A7 H aen oo
149. forfer’ e ue yere: ot

(a) @9 (b) =

() T (d)
Ansé(a)%ﬁmﬁmwé|mmm

|

150.' o731-T ' geaef feRw sreaaae ygera?

(a) o (b) foet

(c) I (d) e
[Ans : (a) 37 T % o9 § ‘g’ o7FT 0 WG @A |
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ST ToTeres urstan

(CTET) uitarr-2012

grerfires WX (CLASS : I-V)

ST Aigd &1 Wo1-U3

(orfrear fafer : 18 FawWR, 2012)

HIT-1 : FTA-forenre T e v
(Child Development and Pedagogy)

fador: frafaflaa woAl & SWR 9F & T wed
3fera faerea g
1. weei N1 &t W areft qfea & wee H
frrefafas § Si=-91 woT 9 37
(a) I TF R Fan-ag & 9ot s=d1 & I F
U A T 8 @ T8 Hond e @ b e
e &1 oeen § e 2|
(b) % fos F 9@F I W @= T8 I AR
STIT UISTSHA T AL B
(c) YT IfC B GuIRA § g 1 IHg AW qdr
T IR & fu geH-aren g
(d) = ==t g0 JRAT F GURT S GehaT @ g
e I 3% QA & A6l GHTAT AR
Ans: (2) A T R Fwar-ww § ot = & Al
B TERT AT T T A TR b @ (5 (rerh-fen
I e § EHA 7
2. TEE e ® YT oA o fog -t fawe-
TR (theme) TR 7=t &2
(a) AU foamem (b) T URER
(c) 7Y fr fi (d) 7T v
Ans: (b) T Fem § yEeT FE & faw AU gRER
fora-oeg ged ot §, i TEY Fem # Ao
formera, fim, wSrg % AR § §W I @r 8, fed
RaR ¥ Trefud S - A, TE-aed oy & an
H 3B I 9% g 2
3. Wigfler el § WehRTcHeh ardreRur fAida &
o fou wes fterss =t
(a) ¥ & S =RT oW % w= & fau
T T AT F F1feT
(b) TYE-TfaREl % <RE THEME % MER W
3% I TR T I AR & =R
(c) TN 37 aTelt H-ar A =feT
(d) 8 Y& a=d FI AMERA FEAT AT
Ans (a) TAHF FT § FHNES TR T A F
oI ws e il 98 9@ () 78 # =iy 3ik
Yo B o T T @ed gFfEm S =few

4. @Wﬁ_ﬁ‘ﬂw%,a{'saw'aﬁ'{"was'
'nuclear' 3T 'unclear' ® ST E T WahdTl
(a) fewiferaan (b) &= SEfel T fgsR
(c) fewferafian (d) fe=refE=n
Ans: (a) TR ©F YR #1 A ged fTeR
2, e o Wi & g # oA IHa H g
oy ot Rl & wu uiRa 98 & g 3 3=
'saw' 37T 'was' 99T 'nuclear’ 31 ‘unclear’ # 3 HH
# Hfgar gl 21
5. Trefafaa # @ - fgroar gaer-aaem=
IURTH T fervt ferg 37
(a) THE Hifersh gl @
(b) TE ST I HIA N YE0: Teh SYNTT giel &
(c) THE el T THgia/Te0 T e el &
(d) TE FoF § Gohe drifed ®a 9 faar g 2
Ans: (d) “THRN HoF H o Sfafied &9 § &= g
21 e oo qee-gueE Uy & foe g 2
6. wferwmomeft feremeff
(a) foremenl § @ g &
(b) TE # e & &
(c) ST STEavAFAST I gAY el g Ud
(d) erqa fufai & syeafaef 8 €
| Ans: (d) ST T Taa st Fokl H srefi a E1 |
7. m%quﬁmﬁﬁnﬁmw

() wfafshan fopamaem (W) wfafshan ===
(1) SofieT (%) T&-huuT
T SRUN T W A §

(@) T, 9, G, F, (b) @, 9,7, F
(c) T, &, 9, T (d) 9,7, ", H
Ans: (d) T3 & g wsHA0T g @ =T fee

BI-Ud-sehvT, Sofieor, sffsear =@, sfafser S

8. HreA-geieft frafeant amr=e:
(a) 3itgd ¥ 9 gfg-cifed aret s=di § o1 S 2|
(b) wEfhal =i qer # b digehl # U ST @
(c) IRFR 3T a=di & o S 7 S ved e A
R AT A Y T W@
(d) 37 w=at § U o @ fowme: e i
ARTEF 9 THR I gEEE § AT 8 8
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Ans: (d) ¥ Tee fEfEad gengmE 9o arel
Tgpan Bt & Sff U N ¥ gud f § =t e 8
Orgs el Fafead g S e § O S €
feroe: e dge Sifwres 39 JhR & wHernsit ¥
IR & 2 |
9. HifweRt, St TiUTE @t orfereRt ¥, Ui @ T
TIT Ut ¥ Uit | FiE I T e W oag
T We ¥ O Y9 UDdl 1 9o SH Wedw
2T & o6 HieT 3% g § gud a1 Wi e a 98
U UIA o YISl ! Sgerdl § IR & I8
g I weiia et € T a8
(a) 39 T4 ¥ qoia: oRfem 2 f aRerr warat &
S 39 & 9T T 8
(b) 3T FaTA * W AreT T T 3
(c) W& T UeT ok fofm sffrprelt § ®fgagar &t
o & @RI
(d) TR 1 B Sorgmyel Raf § @ e 9w W
Ans: (¢) AT T § SW 7 W@ g9 W 9 98
e § R IO 8 T e SW A H wed A ¢
fSrqa RIferenr S99 & vt i SEced WEd & W
F B I SUY UE W Bl 2 b YR Higd &
T TehL o fh § wfeaser i FerE 3 W
10. HEw & fou stehe ffeaRad st e waar
& femr
(a) forenfefat =t emamd
(b) faranf=i &t savgesand
(c) forenfaat =t gfeat
(d) feranfef=it & stRerm-giferat
Ans: (b) a4 & U sterem fornfefai &t smavassar
H M T @A ¢l S G & T e
ferenfefel &t emmensd, S qfeAl wd siftrm-wiferEl W
& T 2
11. THAAE Jgai 9EA § W Uk i AHEISh-
anfofer ® | eMTET URa” g e feram wimar &
3 T = ek fef ufter grn uw o & e
3ok gfg-oletlieh & an o fr=ferfaa o & o=
AR B i WATfeIeh THTEAT &7
(a) B GO &Y F 3% I HA
(b) & AIfSIH-3Nf URER arel @esh @i 3TUeT
frefq aftar aren s Sifts 37 T Hm|
(c) TIS-3Te wR Jfg-ais B yfad T&f Fwar
(d) fdq aar o g% # Smuem -t qfie-
anfier URER 9T g 3ifte 3ish I S|
Ans: (¢) Tt off yoR ¥ = & Ffg-TEiE B
e Sl W a8 e |

12. fraffaa ¥ ¥ &A-61 GeW e e @

IETET &2
OEER (b) feramT
(c) T& (d) BEeHT

Ans: (b) W[ TS HIVTA BT Taig TR st @ 7
fore e, =g, Bashl oNfE S €)1 Sefs fore
e TS HITA H S ST |
13. STt % Rrgia o fafgare &

(a) i faendf 1 == 9 ¥ &1 S 3

(b) SRR A % SIS HfoH Hardl & g B d

e S TR T BT
(c) =3 3 sl H GG § 9oaq 9 T URg Tehd!
& et Sfg-cieerish & =y e 2

(d) HEANTIHS THeT UTE |
Ans: (d) T % STER I aTel amER | e
a1 FeArh gar 21 Fofq 99 fafe =afe v g
(S T&gal, iR, e amea ffdmett gef) qo
e (R = war @) # faaRa & 21 a8 g
ol 2 5 gl % W o B qg Gednes
fopenait g1 SR S Sfehan TR ®9 ¥ g A 2
14. TRIMT__ o1 SIHE T Tehel &7

(a) TR 3R W & TR

(b) =9 H fHT T 3qe & W S F 9

(c) Teafafg & wa

(d) Sfte= & IR H 9Rgfd & a9
Ans: (a) FRYTR ‘I 3R wF § TUHR H T
Thd 81 98 AU -8, @R, AH-GHE, ST
fRefy, amfees wiga, s sfa o sgawer onft &
e Gda =70 wd |
15. IHiRe 0 A W soeil ol HET=AA:_ BT gl

(a) feeefifirn (b) fe=hegferan

(c) fewaferman (d) feenfean
Ans: (d) fEEnfear &8 T 7 afesh a8 T TSR &
fopr € § S iRe &9 ¥ W s § S
U ST @ SHH a=d & foRaee 9 gHEe & & W
I el 2
16. 3Tif¥Teh gEe

(a) e QASeR s STUET B T e @

(b) ATk Hefl-he H AT ol oAl ST Fehl

(c) W 1 il w # waife S s ¢

(d) T TASCT T 70T Sy S g @
Ans: (d) TS THee O i . Td stfRansi
% S A o ¥ 21 98 Haq [Aeed S STieT
St T A § e T T A R SRR W
qsler el SHe TAT E @il 9N 98 eI STgfhal

I AT H HT B
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17. U Oy faemerm emuw frerant # fefafaa
Frgarel § W fRe aifire serar <m?
(a) STIRME T
(b) Sftreasiers sifugf
(c) ThET F F wgfa
(d) Hfa

21. oToT H 279 it WO BT TR B
(a) ®m

(b) =

(c) HehawameRT

(d) ars
|Ans:(a)Wﬁa§ﬁm@ﬁmW?l |

Ans: (b) T T3 faameE o= fawmet § fefafad
Jraelt ¥ ¥ gag ufqufess gl &1 geifus
eI
18. fr=feafaa & & ofa: foweft srqevm = wafepe
I g §
(a) UB-AS AW SR wfafaferEl # e @
siferes TTeT 1 SR A 8|
(b) ferenfei = 9rg T I @1 ag-Hedt H SEE
F 3R FEEET T % e R S §
(c) ybtul & fafgear, o W uemwEt #
Haliferd fhw S & sravasar 8, 9 Rw %
AT B FT HY G B 2
(d) frenfdl & fafter fowa-eni & favw wewol &
s Arager faepfia g9 & & gE g 8
Ans: (b) 37 faweft sTvR #1 wafpE o I8 ¢ fR
foenfifel & 9@ ™ T¥ JE w Fg-sedl F oA
F SN AT B & A & S €
19. o frgmeff St dgg T iR Jrarfrer e W@
gifder Z=aT Uaidia &id &, Seh UTd gIaT &
(a) fAsarEA-3ure ey
(b) fAsarEA-uREr sAfHfa=e
(c) FE-ufEr stfufa=ma
(d) vt st
Ans: (a) 57 Rwendf & ug fsaea-summ sifufe=mg
g 2 3 Rl d9g 39 R il e # el
T=1 el i |
20. fotersh _ o atetmen fmtetiaa weft @t & §u
HUET-guene r foenfdet & fow weeR s
Heha B
(a) GoHTHS e & fog Siife e Suasy &
(b) 5@ faendf =g ¥ FE F& FE H B RN
R & o 379 gRyuiar # 7T B
(c) T ofd arelt Tl Iucey FH
(d) % ©a & foau g 3|
Ans: (b) i i 9« foanef =g ¥ FE & w9 &
FYTST B ® & a 378 gRgular  sem T B
AT afesh 37 51 fopdt T I T FW FH F fAw
3% IR *CT =few) sufere fomnffel @ oRgefar &t

370 F L GHST GHEM I Yk 41 ST GohaT 2l

22, wgdfg Rrgia Prafefae fafgare Tar & Rrama
(a) fafeer olet & Ga &1 e 6 ST o @
(b) TeTeH g, Ffg-cfed § gafua & 8
(c) dfg wohruT Wigharet w1 UH fafw wqe=d

QY % g e S @

(d) o a1 fefrer qdishl § s fRam < gkt @
Ans: (¢) g5 fasra & swaia fafay olel § draw
F b fhaT S ¢ Tg el off yeR ¥ g
fg-afy ¥ waf =& ¢ sgafs § fawdl & fafw
Tl & T R ST FehaT 2
23. fr=fafaa & 9 &E-91 des & fag sty

®U H AFYRT LT 87

(a) THHAM T To4 & forq o

(b) TFT WA AT HfeT A B 997 F N A

(c) T H MG L § AR 8

(d) ST FRH
Ans: (c) T2 H W HA F AR GG daw §
HAehaT &9 § SRERA H 21
24, gfg-vieiir WMEE: w0 @ v

Foroure @ deifa g 21

(a) 3= (b) weH

(c) FH-9-FH (d) 9of
Ans: (a) fE-T=% TG ST ®Y T TR
fosares 9 eifta g 81
25. 16 THfar SToa fag-TMer T | 75 37k yied

AT § SHeh! HIATGeh 3 &6 g

(a) 14 (b) 15

(c) 12 (d) 85

. iy MA (mf@aﬁaqrg)x
Ans: (¢) 1Q (Jfg-cT=Hieh) A e o 100

IQ=75,CA=16a4

75= M4 100=75= M4 100
A 16

75x16

= MA =12 a9

26. eyt o dRwifeEt & fag amft = ===
FA AT HT_ ET BT IRl
(a) 31 Tranl; THIEYA (b) farenfefe; o
(c) e, TaEYE  (d) faenfE; afgspon

= MA=
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Ans: (b) faafial & Ndwifer & fow el & ===
A gua faafelal s gHETH SE 8T =R
27. A TUTEYH ol AfeTiad st 3Mavaehdr gidt
% fiqam -
(a) GaAGAYNE M (b) IFHII
(c) Ryt &t 9riier (d) emdr-Saed
Ans: (b) % GUEYH & fau e &1 Gaeasha
e Td SAfwrEe @ qrier q9 SEl H SHa-Saad
SIS BT ¢ T goeRT |
28. Teomera # T dewre | o= &1 "arad daiient
T HHAT §
(a) Pl g 3% fofm-vemumyel =@ERi @
S
(b) %Y Ud mfean fowmet H 9uE 9@ § ol s
(c) fare & fefm-9gwmE & [ 6 & fow fem
ST 3R HTE T IHH T FHLET
(d) sl wferifiar & fou osfwal i sman e
ASH H T HEAT
Ans: (a) fFme™ & o Seug 9 s=9 1 gafd adem
Wﬁmmmwﬁwﬁwm
HTT 2

WNT-2 : T
(Math)

fader : frafefian woet & ST e & fau we
3fera faramen g
31. RN & 9AT w1 V H ‘W9’ Weror & a0
‘Uer’ W el el I W T weT % W
e aht =relt
(a) T ST H T AT FAfF T8 FT F IR &
T ! o € R gEl S W el 2
(b) 9 arE-faar Geidt By & der # famfiat
' R B B
(c) T H TN ATl GEW AW H 7 3R
eI % HElel B G B 8
(d) TH-TR & foari & g # faenfdai ot wema
B B AN ATA A TA F b fq 3%
eqIfee et @
Ans: (d) 599§ & T == P H FH § TH W F
foraml & g # foeneff @ g wd & S eto
T FEA F & [T 3% Sreiied Hd 2|
32. 2AfeRel o faverour Heeft faenfefen =t w@w=r =

29. WE-vrerfuter & § fsareT o 3T W rarfiren
&= U freaTes & Wt 9@ AT 3itferer T
ferer e W feRar =T wehdT &
(a) T2 &9 ¥ U oI arct | % 9fq g st
FAT 2

(b) 7 Fafthss fraaieli S Hqe F &

(c) I8 gfvrEpd faanfdai & fou wfrqe e @
Hfer 1 ST A &

(d =@ B EEe ) (retention) E) ﬁﬁ@ﬁm%l
Ans: (b) T8 Jieifores &t § fsqes & SER W Steifirs
gt d e % TR & ded W v Jafee
forereTaii =l GqE e 1
30. foeme o frafia sufafs & fao dfaa et

®I WATRT A & fAfaiaa & 9 wiE-491

et waifire Sugsh Jm?

(a) 3MEHE e @remT

(b) a=di @I faEner™ o & AR T 3 B FLH

AT 3TIUY T S
(c) FrereE g S=a B UHHT T A U AR B
freh foram ST S fafe =’ & =t 1 e T

(d) === &l AT FH & fow oy g 2 53
Ans: (a) e & fafim softem & fau dfaa s
F Teqfed FH & U emEdE e @em &)
T waiferes ugh &)

A H o ToTT Faiteren S wureies ol §
(a) gfierr frafe (T =)
(b) T-qRedt
(c) Geerur-3menia qfarsrHT
(d) J¥ARd
Ans: (¢) el & favayo gadt fornffal & a0z @
HHe HH & [T Faiftes Sfaq &ueass %, Feer
{renfa qRESHr & |
33. Tromst o1 fagm o fof AW ey o
HE=T g & AR i v U Preres e &
Tagia # faygme &id g«
(a) TS UREHT R e UReEt S oSE
HAT

(b) foruifed sTa™ &1 W S
(c) =i R 2 gl 1 =T Hm)

(d) &M | agd YR gEYREehl (manipulatives)
R SISt 1 & |
Ans:(a)ﬁ?@wmﬁmﬁ@ﬁ@m

qrfes aREreHT oK amfess o=t 1 S S|

34, 3UT GH-Taow SR i HeheUAT ol AU T
o T ¥ SHE GheudT wl GURA & few
forferem 3 Rt @1 9@ T 20 Ses foT ol
IHY 3k WY I o U swmem arer € 1/ 20
qoh HEAT3T ol Bied & T w1 9= Hersl &
g & U 3R e <ig A &= a3
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